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Your Roll NO...coemeeeeeees

Sr. No. of Question Paper : 1914 F

Unique Paper Code : 2034001214

Name of the Paper - Film Appreciation & Criticism
(GE)

Name of the Course - B.A. (Hons.) Journalism

Semester I1

Duration : 3 Hours Maximum Marks : 90

Instructions for Candidates

Write your Roll No. on the top immediately on receipt

of this question paper.

7. This question paper contains 2 parts. Both parts are

COMPULSORY.

3. Candidates have to answer All questions in PART A
and Any 3 questions in Part B.

4. Questions in Part A carry 10 marks each, and

questions in PART B carry 20 marks each.
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Part A
(a) Write short notes on Mis-en-scene and Deep
Focus.
Or

(b) The story is the action of the movie and the plot
is how the story is being told- Comment with

relevant examples.

(a) Write a short note on German Expressionism.

Or

(b) Discuss any two film genres of Classical

Hollywood Cinema.

(a) Write a short note on Non-fiction Cinema.

Or

: § /ith
(b) Discuss the concept of male gaze wil

. 4 . > ’!ﬂ[
reference to feminist film theory. Give releve

examples.
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Part B
Attempt any three questions. (3%20=60)
4. (a) Discuss montage and continuity editing techniques

of film editing with appropriate examples from

films.
Or

(b) How does sound and colour play an important role

in cinema? Elaborate with examples.

5. (a)Is film noir about style more than content?

Substantiate your argument with film references.

Or

(b) What are the significant features of Italian

Neorealist films? Discuss.

6. (a) Cinema gave impetus to the idea of nationalism
during pre-independence period. Comment with

relevant examples from films.

Or

P.T.O.
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(b) what do you understand by Third Cinema? How
s it different from first world cinema and second

world cinema?

(a) 1950s are often considered as the golden era of

Hindi cinema. Elaborate with references to noted

7.

filmmakers of the decade.

Or

(b) How has film culture in India evolved after the

advent of globalization. State with relevant

examples.
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Unique Paper Code - 2054001203
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Your Roll No......ooeeeiins
Sr. No. of Question Paper : 1936 K
Unique Paper Code © 2314001201
Name of the Paper . Delhi Through The Ages:
From Colonial to Contemporary
Times
Name of the Course . B.A. (Hons) GE
Semester o 11
Duration : 3 Hours Maximum Marks : 90
g ;3 U0 quiis : 90

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.

Attempt any four questions in all.

bt

3. All questions carry equal marks.

4. Answers may be written either in English or Hindy;
but the same medium should be used throughout the

paper.

P.T.O.
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ol @ faw fAdw

1 mm-ﬁ%ﬁﬂ%ﬂmﬁ?‘wﬁiﬁ&aWWm
CRCRIESI TG

2. Rl ORI & Sw A

3 Wt v @ 3w s

4.  THUF-TF I IW a’ﬂaﬁm%ﬁﬁﬂhwwi’ﬁﬁq,a&q
T I H AW T B R |

[. Describe the political, literary and cultural landscape
in pre-1857 Delhi.
1857 ¥ 0 el ¥ worifae, aiitfas 3R arepw wRem
F T Hfe |

2. What did Delhi witness in the aftermath of 18577 In
what ways did the events of the rebellion lead to
changes in the city?
1857 % W RN W 7o e xW? 1857 @ RAE R
TR Rt B R wRad ) Aw A T

3.

| -
In what ways did New Delhi represent thellmp‘“‘a
Visions of the British Empire in India?
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6.

% R e o A wm ¥ fafrw wwew @ TR e
(@) =1 uRfafiea s 27

OR

What were the issues related to acquiring Land for
the construction of New Delhi?

% et & oo & o v sfterewr @ el @ =&
97 - |

What did “Partition” and “Independence” mean to the
people of Delhi?

el & o & foo “Rwes” @R ‘“@daa” & =1 9Ed
q?

Discuss the political, economic and demographic

impact of Partition on Delhi.

e W e @ qoifae, e R THafersT g
& T AR

Explain some of the processes by which parts of urban
spaces or outer Delhi developed with special reference

Welcome or Mehrauli.

P.T.O.
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Acaw W TEYR @ fadw w= A I wfRwA w® qwed
A &0 A E W awd fel @ faww g B

Discuss the significance of the establishment of the

University of Delhi.

foe favafaasa & wu @ wEa & 99 i |

8. Write a short note on any two of the following:
(1) Ghalib’s Delhi
(i1) Master Ramchandra

(iii) Waste  management and changing urban

environment of 19th Century Delhi

(iv) Delhi’s cultural history through coffee and tea

houses
frfafas ¥ ¥ ol @ w W Root fofeg
(i) miem & et
(i) ¥ TS

(i) 198 ¥ & Rl = U WEA AR qeEEr wwd
A

(iv) =R AR 9 W D Mow A Rl o o shem

(2000)
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Sr. No. of Question Paper : 2005 F
Unique Paper Code . 2174001206
Name of the Paper - GE: Molecules of Life
Name of the Course . B.Sc. (Hons)/B.Sc. (Prog)
Semester N
Duration : 2 Hours Maximum Marks : 60

Instructions for Candidates

Write your Roll No. on the top immediately on receipt
of this question paper.

2. All questions have equal marks

Attempt any four questions in all.

I Answer any five of the following :-

(i) What are anomers and epimers? Give examples.

(11) Explain with structure, why sucrose is a non-

reducing sugar.

(1) What are essential.amino acids? Give three

examples.

P.T.O.
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(iv) What are enzymes? Discuss briefly the
classification of enzymes and their uses

(v) Briet discussion of quaternary structure of
pmlcins.

(vi) How does carboxypeptidase enzyme help with
peptide chain C-terminal residue analysis?
(3x5)

>, Explain the Following :

(i) Open chain structure of glucose fails to explain
some of the properties of D (+) glucose. What

are those properties?

(ii) Define and give an example of the following: (any

two)

(a) Mutarotation
(b) Glycoside.
(c) Invert sugar
(iii) Discuss the Kiliani-Fischer Synthesis.

(iv) Write the product (structures) in the following
reaction:
. Br,/H,0
@)  D(+) Glucose 2 -
PhNHNH; excess

(b) p (+) Glucose

(4,4,4,3)

(¢©) D (+) Glucose HI/ Red P e 7
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3. (i) What is Structure-activity relationship (SAR) of

drug molecules, ? How can it be optimized.

(i) Briefly describe the factors affecting enzyme

activity.

(iii)What are coenzymes and cofactors, and their

application in biological reactions.

(iv) What is the difference between a competitive and

noncompetitive enzyme inhibition ? (4,4,4,3)

4. (1) Draw the chair forms of a- and B-D-glucopyranose.
What i1s the intermediate in their conversion? Give

mechanism of this interconversion.
(i) Explain each of the following observations :
(a) D-fructose gives a positive Tollens test.

(b) D-glucose epimerises in base but D-glucitol

does not.

(c) N,BH, reduction of D-fructose gives two
alditols, but the same reduction of D-glucose

gives only one.
(iii) Draw the structure : (Any four)

Maltose, Lactose, D-Fructose, D-Mannose, D-

Gluconic acid, t-Boc

P.T.O.
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N

(iv) What are polysaccharides, and why are cellulose

and starch so essential in daily life? (4,4,43)

(1) Explain how to determine the N-terminal aming

acid of a peptide using the Edman degradation

technique.

(1) In an electric field an amino acid would migrate
towards which electrode at :

(a) pH<PI (b) pH>PI (c) pH=pl. Explain.

(111) What is DCC and what role does it play in peptide
synthesis? Discuss with an example.

(1v) What are the advantages associated with the solid-
phase peptide synthesis? Discuss the Merrifield
synthesis of polypeptides (4,44,3)

Briefly define or describe the following: (any five)
(1) Zwitterion structure and Iso-electric point

(1) a-helix and B-pleated sheet and their differences
(i) Electrophoresis

(iv) Denaturation of proteins

(v) Importance's of Ninhydrin reagent

(vi) Wohl's or Ruffs Degradation method of sugar
(3x5)

(1000)
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Your Roll No...............
Sr. No. of Question Paper : 2048 F
Unique Paper Code : 2234001201

Name of the Paper Lifestyle Disorders -

Generic Elective (GE)

Name of the Course : B.Sc. (Hons.) Zoology
(NEP)
Semester |

Duration : 2 Hours Maximum Marks : 60

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.

First question is compulsory and attempt any three
questions from remaining

1. (a) Define the following terms: (6)
(i) Basal Metabolic Rate

(i) Hemorrhage

P.T.O.
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(iii) Meditation
(iv) Metabolic syndrome
(v) Obesity
(Vi) Thrombolysis
(b) Distinguish between the following: (5)

(i) Proto-oncogenes and Tumor suppressor genes
(ii) Cardiac arrest and Cardiac failure
(iii) Relative and Absolute risk factors
(iv) Fasting and Postprandial blood glucose level
(v) VLDLs and LDLs
(c) What do you understand by the following:  (4)
(1) Diuretics
(11) Myocardial Infarction
(i) CPR

(iv) Glucose intolerance
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(1) How is the Benign tumor different from Malignant

tumor? (5)

(11) Enlist the lifestyle habits that leads to cancer of
mouth. In details describe any two methods to

diagnose and treat the Oral cancer. (10)

(1) What is Echocardiography? Describe about its
principle and various modes. (8)

(i1) How does erratic sleep patterns, smoking and
wrong food-choices increase the risk of lifestyle
disorders? (7)

(i) Write about symptoms and causes of Type 2
diabetes. Add an account on the associated risk

factors and complications. (8)

(i) What is CAD? Explain the associated symptoms

and causes. (7

(i) Define blood pressure. What are the types and
causes of hypertension. Give a detailed account

on hypertension management strategies? (7)

P.T.O.

L e o e
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(1) What are the risk factors associated with

hypertension, and how do they contribute to the
development of complications in various organs

such as the brain, heart, and eyes? (8)

Write down a short note on any three of the following:

(5x3=15)
(1) Coronary atherosclerosis
(11) Biopsy
(111) Fit India Movement
(1v) ECG
(v) Cardiac rehabilitation
(1000)
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Sr. No. of Question Paper :
Unique Paper Code

Name of the Paper

Name of the Course
Semester

Duration : 3 Hours

Your Roll No..vouvrvunnnnn.

4122 E

12275201

Introductory Macroeconomics
[

B.A. (Hons) GE
II

‘Maximum Marks : 75

Instructions for Candidates

[e——

of this question paper.

b2

Write your Roll No. on the top immediately on receipt

Attempt any five questions.

3. All questions are of 15 marks each.

4.  Answers may be written either in English or Hindi;

but the same medium should be used throughout the

paper.

A & fow fAdm

1 =4 Y-99 @ fied ) W Ry v i we w@ e

FgwHe fRag 1
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b

&8 afer weAY &1 Iww A |
Il w15 s @ R

T WS - Y7 & I a’ﬁmﬁa%ﬁwwﬁ'ﬁfﬁq,%ﬁ
wm‘mmwﬁmmu

(2) Explain the components of current account of
balance of payments.

(b) Differentiate between intermediate and final
goods. Under which category, are “Capital Goods”
included?

(c) What is GDP deflator? How is it different from
CPI? (5,5,5)

(%) Waﬁm%a@m%wﬁa&mﬁl

(@) weAadt R S agH B A9 IR PO ‘Dfies
Tﬁa”f&mﬁ)vﬁﬁ'wﬁa??' -

() GDP fedetet @1 87 a8 CPI @ R 3 27

(a) Explain how equilibrium is determined in the money
market. What happens to the equilibrium rate of
interest in the following situations? Use suitable
diagram.

(1) Increase in nominal income -

(ii) Increase in money supply
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(b) The following financial market data is given for

an cconomy (in rupees)

Currency = 2000; Reserves = 400; Deposits = 4000.
(1) Calculate size of money multiplier
(11) Monetary Base
(111) Money Supply

) “Change in money supply affects the price level”,
Explain. (5,5,5)

() m%@wﬁa@?%ﬂﬁuﬁaﬁmm
2\ fFferfas Ruafaal % et &t agem = &1 7 B
27 JugE dN@ W OWE w|

(i) W‘mﬁqﬁ%{
(i) ¥z smqfa ¥ Ife

(T) Frfofaa g 99K 3 T W%ﬁ?ﬁm
TR (T )

T = 2000; WSK = 400; T = 4000 |
(i) mw%maﬁmﬁ
(i) g
(i) w1 @ g

(@) “qz1 gfd ¥ oftad FPE WX A ywlRE @ 27,
e FIfg)

3. (a) What are the social costs of expected and

unexpected inflation?

P.T.O.

——
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(b) Differentiate between “Orthodox™ and “Heterodox”

stabilization programs adopted during
hyperinflation.

: . . 3
(¢) “The Inflation Tax is always equal to seigniorage

Comment and justify your answer. (5,5,5)
(3) fed R swefa sl & amfoes ane =
27

(¥) FETETETE & NH FUAN MW “IifEEiaE” 3R
R Rt FEEA B AT R R

(/) ‘T R EN ¥ERE B e B 27 P
FIWT IR F= I 1 3w AR

4. (a) How is the labour demand curve derived under
classical model?

(b) Explain the determination of equilibrium level of
output, employment and the rea] wage in the
classical system. | (7.5,7.5)

() snvhutﬁsa%mwwmwﬁmﬁsmm

27
(7) mﬁmmﬁmﬁ,msﬁtmma}
T A o &) amen @
5. (a) Examine the impact of an ¢Xpansionary fiscal

policy on output and interest rate under two
assumptions :

(i) Interest rates are kept constant
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(11) Money stock is kept constant
(b) State whether the following statements are True
or False. Give reasons for your answer.
(1) A tax cut always increases the GDP of

the country

(1) If the government follows the policy of
a balanced budget that is change in G =
change in T, there will be no change in
budget surplus. (7,8)

(F) A uRomR D T INET I WA R W AR
TN A = 7 A/ AT R
(i) = ® R @@ et #
(i) ¥ wiw R @ v 2
(7) m%ﬁwﬁfﬁaﬁwaﬁémmé‘lmm
& HRU qdg|
(i) R wAR T W AN NI D T 2
(i) aft ¥R v& Fgfed ooc @t AR @ 9o
FA W G A RadT = T ¥ wRadwr 2, @
aae AftEw A w1 aiRedw 789 swm

6. (a) What do you understand by Policy mix? In an
economy, illustrate the effects of a policy mix on
equilibrium output and interest rate.

(b) Given that in an economy

C=08(l-t)Y

i
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t = 0.25
| Q00-50

G RO0

l 0.25Y 62.51

(M/P) ~ 500
(1) Derive the equation for the IS curve.
(11) Derive the equation for the LM curve.

(111) What are the equilibrium levels of income

and the interest rate?

(¢) Under what condition the LM curve be horizontal?
(7,5,3)

(3r) T fasor & s o wed 87 v wdaaen |, a9
IEed IR & W W AN fiyor @ gwd & 9
F
(1) 7 T@q 7Y f uw srdegaen A
C =08(1-1) Y
t = 0.25
I = 900-50i
G = 800
L = 0.25Y - 62.5i
(M/P) = 500
(i) IS o & fg wiewr sgea=r Hifr!

4122
(|
7. (a)
(c
(3
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7

(i) LM 7% & fou afew s #ifdm)
(i) 3@ IR =S W B FgAT T owqW ¥7

(@) voww aw W A ) faf A g 27

(a) Explamn the role of multiplier in determining the

(b)

(C)

slope of IS curve. Using IS-LM analysis explain
how does an increase in autonomous spending
attect the equilibrium level of income.

Explain the concept of national wealth. Compute

savings for an economy which has the following
data :

Investment

300
Exports 100
Imports 80

Factor payments received from rest of the world 90
Factors payments made to the rest of the world 70

Assume that the demand for real money balance
1s M/P = Y[0.3 ~i] where i is nominal interest
rate and Y 1s income. Calculate seigniorage if the
rate of growth of nominal money is 15%, Income
(Y) = 2000, real interest rate is 5% and expected
inflation rate is 7%. (7,5,3)

(&) R 7% & g @ fulfta wE A o N i

N are W) HEvE - wEed s w1 gwaer w1
T o X & @amw & § g s & dgeT w1
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£ 3 ywfa #@ 2

(«) n@ama%mmaﬁmmlﬁwﬁﬁﬁ%a
R fegaen @ oy wua @ TR

3w 300
e 100
T 80
W fIyg ¥ W RS [ | 90

I iy 1 6y W FRE WA 70

(@) 79 & F awals o7 v & T WA = 9.
(0.3 -] & ST & AREN &S X 2 3R A I ) Ak
el 4 W gfg W 45%, 3@ (Y) = 2000,
FEAEE T R/ 5% MW U A R/ 7% @,
A RS H AT w :

¥.  Write a short note on (any two) of the following :
(a) Crowding out
(b) Use of Private Savings
(c) Quantity Theory of Money (7.5,7.5)
fFffas 4 4 (@ @) ® ool foRe -
() w3fén sige |
(7) fott @9 =1 3q@m
(8) = =1 wrn R

(200)



[This question Paper contains 4 printed pages.]

Your Roll No

Sr. No. of Question Paper : 4125 E

Unique Paper Code : 12035902

Name of the Paper GE: Media and Communication
Skills

Name of the Course . B.A. (Hons)

Semester IV

Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

Write your Roll No. on the top immediately on receipt
of this question paper.

Part A

Answer any three questions from this part.

Each question carries 10 marks.

1.  What do you mean by ‘developmental journalism’?
Enumerate the role of mass communication in a

developing country like India.

P T ()
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Do vou think digital media h

(N

as nullified the roe and

impact of print media?

3 What are advertising ethics? Why ig it Important t,

have ethics 1n advertising?

4. Enumerate the differences between a news story and

a feature with suitable examples.

th

What is cyber media? List some benefits of cyber

media in the field of education.

Part B

Answer any three questions from this part.

Each question carries 15 marks.

Write a SCript for g radio feature to create awarencss
on “ ) . s : » ‘Or
N “Voters’ ¢ducation and electoral participation t

reat 1 \. . A
Ereater Participatigp for a stronger democracy-
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Create an advertisement storyboard for an e-learning

app tor hgh-school students.

Write an Editorial article on any one of the following

topics :

(1) The implementation of the National Education

Policy 2020.

(11) Shifting to alternative energy resources for

checking climate change.

9. You are working for a publishing-media house
and assigned the task of writing a review of a
film recently released in theatres across the
country. Write a promotional review highlighting
the film’s cast, crew, storyline, etc., to attract

the audience to go to the theatres to watch the

film.

P.T.O.
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10.

You are an environment activist and wish to bring
awareness regarding rising pollution in Delhi and other
metropolitan cities in India. Write a blog for publishing
on a blog site highlighting the significant causes and

suggesting measures to reduce pollution in urban

places.

(200)
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Your Roll No....couueuneee.
Sr. No. of Question Paper : 4148 | E
Unique Paper Code 12295203 .

Coupled Human and

Name of the Paper
Environment System

B.A. (HONS.) Generic
Elective Course CBCS -

(LOCF)

Name ot the Course

Y ear of Admussion Admission of 2019
Semester [1
Duration : 3 Hours- Maximum Marks : 75

Instructions for Candidates

Write your Roll No. on the top immediately on receipt
ot this question paper. |

All guestions are compulsory and carry equal marks.

2.

3. Use of stencil 18 allowed for drawing outline of maps.

4 Answers may be written either in English or Hindi;
dium should be used throughout the

but the same mc

papCI‘. °
P.T.O.
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wral & fog fde

ro

g W -1 @ e # 3w e 1w FRe e w s
s R 1

el y= fFEd aﬁzwma'erz?%|
Wﬁ%ﬁmmﬁméﬁaﬁmﬁm

T W - T3 T IR mm%ﬁﬁﬁwwﬁﬁﬁv A
mﬂwﬁwmmwﬁﬁmm@m

o

Coupled human and natural systems involve
interactions and feedbﬂcks between the human and
environment subsy%tems E1u01date with suitable

example.

FEHT - T T |

OR/3terat

Discuss in detail different theqries related to L.OUPlCd

]

Human and Environment System?

WWWWW&T%WWW‘ﬁ

foar 4 ==t @A
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2. What are the biogeochemical cycles? Illustrate the
nitrogen cycle and impactof human in this svstem.

-

s v - aaafa aE a2 ArzorEa MF A TEE A3

CIEC I T e AR e A el

OR/AZal

Discuss the interaction and impact between human

and natural system with reference to biogeochemical

cycles.

T 9 -TEEEE 9E F Hed § 9Ed A7 FhaE O F
A s R e waE W T F e

What is water cycle? Discuss its importance and

('S

human impact on its function with suitable example.

wqa¢2m1%?aﬁ%mﬁzéiﬁ%mrﬁﬁmamrmgﬁ
GammEﬁﬂmsw%ﬁmmqurwwsmmaﬁammzﬁ=

OR/AYAr

Discuss the intéraction between surface-ground and

1SCUS! s

i dro system with surtablc
yasts r in the hy )

coastal wate -

illustration with reference to global scale.

1 : c

aﬁavwz?ﬂzﬁﬁaﬁuwﬁmﬁ—aﬁqsfwwfmsﬁ

mwﬁmf%ﬂéﬁwquﬁmTﬁﬁq;
A P.T.O.



4 Describe (the nced of integrated assessment of
vulnerability and risk for long term sustainability of

osvstem with suitable examples.

. l. L
arfefeataar @ @1 aulcld fevear & ferw aaar A sifaw

2 cdled Yodiad N JHaThdl w1 ITGId B & A4

U &R |
OR/M3T2adr

of governance and policies

Discuss in detail the role
n environment

~ifective management of huma

<vstem with reference to giobal initiatives.

qu%mﬁﬁwmwm%wﬁfﬁwm
;ﬁﬁﬁﬁﬁaﬁwﬁwwﬁwv%ﬁaﬁm:

-

S Write short note on any two of the following :

(4} Himalayan — Ganga Ecosystem

Theories of Coupled Human Environment System

(D)

) Management practices for environmental

sustainability
e @ @ faw @ woafae feeelr faRag
(5) fesdraa - s gifdeafas 9=
() afesd wia gdaor gurel @ fa@rd
(#) wdEeiia feqdr @ fag gaud dafadr
(500)
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Your Roll No...............

Sr. No. of Question Paper : 4214 E

Unique Paper Code - 12135910

Name of the Paper - Individual, Family and
Community in Indian Social
Thought

Name of the Course - B.A. (H), Sanskrit, GE,
LOCF

Semester o1

Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

W—

Write your Roll No. on the top immediately on receipt

of this gquestion paper.

7 Unless otherwise required in a question answers should
be written either in Sanskrit or in Hindi or in English,
but the same medium should be used throughout the

paper.
3. Answer any five questions.

4. All question carry cqual marks. Each questions contain

15 marks.

P.T.O.
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o @ fog i

1. wm—wa}ﬁﬂéﬁmﬁqmﬁﬂfﬁqpmwm
S ECRICATITC I

2. 3O I B W, 38 WA K IR AR 41 Bt 4
Faon a8 v W ' ST, SfeRT 9 IR 6T e v B
BT TR |

3 O W @ I A |

4. A YT F IF G | vF /¥ we & fore 15 e freiRe
=

A3 At A A e a5y g ww
% FHAR F) YR 9T |

Explaining in detail the yoga path described in the

Gita, explain the relevance of Karmarga in the present
time.

2. 3T AR & ffor ¥ deew ogaen € SuRadr e
Fiforo |

Prove the usefulness of the Sarmskara system in the
creation of good citizens.
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| SN

w

g @ oltad A sfaen q aneafara 32w & wfed &
e @ w1 A qee - adted @) gurdadr &1 wfaE F i |

Describe the usefulness of four-Purusartha as a means

of achicving physical and spiritual goals in human life.

arTfor Sraen @ SiRtd Al ¥ TR dgeddl 9 A
?ﬂﬁ?ﬁﬁﬁﬁq@w%ﬁvﬂm%wﬁﬁmm
3 yEfE ®7

In the social system, to establish mutual tender
heartedness and harmony among humans, in what way
are the thoughts of Samanasyam Sikta relevant

today?
e F aftiq gt dedtsll gfde @faww I '
gy & faga a1 fagewe S |

Analyze the rules of social institutions, Samvid
vyatikrama and Samaya-anapakarma described in

the Dharmasastras.
qypeas, A 4 afeh &1 e d geegd W fewon faRag

Write short notes on panca-mahayajna, idea of person

in Gita and ista-apurta.
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7 fqefafag ¥ @ &= @ e afera feoon fofeo

Write short note on any two of the following :

(&) =AM (yoga of knowledge)

(@) T &1 HWgwd (Importance of dana)

(1) T (triguna)

>
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Scection A

five of the following : (5%1=5)

[ () Define any

(1) Ecosystem
(11) Food chain

(iii) Fleliophytes

(iv) Ecotone

(v) Pedogenesis

(vi) Hygroscopic water
(vii) Niche
(5><12=2.5)

(b) Fill in the blanks :

i T =9 M ‘ -
(i) The instalment used to measure relative

humidity is




I
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(i) Pyramid of ____ is always upright.

(i) Partially decomposed finely divided

amorphous organic matter is known as

(iv) ——— fraction of the soil is the main

source of nutrients and cation exchange

capacity.

(v) Detritivores are the microbes that feed on

Differentiate between the following : (5%3=15)

(i) Food chain and food web
(i) Primary and secondary succession
(iii) Natural and artificial ecosystem

(iv) Hygroscopic and capillary water

P.T.O.
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(v) r and k selection

3. Write short notes on any three of the following.

(3x5=15)

(1) Soil profile

(11) Endemism

(1) Shelford’s law of tolerance
(1v) Light as an ecological factor

(v) Characteristic features of the community

I

(a) Elaborate on biogeochemical cycle of Nitrogen
with the help of suitable illustration and discuss

the role of industrialization in the changes.

(8)
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(b) Explain the process of sotl weathering? Discuss

the factors responsible for so1l weathering

(7)
Section - B

. (a) Match the following : (571%4=2.5)
(1) Father of taxonomy (a) Engler and Prantl

(1) Forest Research (b) J.D. Hooker

Institute

(i) Phylogenetic system  (c¢) Dehradun

of classification
(iv) Numerical taxonomy  (d) Carl Linnaeus
(v) Flora of British India  (¢) Sokal and Sneath

(b) Give the alternative names of the following

families : (1x5=5)

P.T.O.
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Compositae, Graminae, Leguminosae, Labiatae,

Cruciferae

- Write short notes on any three of the following :

P

(3x5=13)
(1) Keys
(i) Typification
(iii) Principle of priority and its limitation
(1v) Cladistics
(v) Herbarium techniques and functions.
3. (a) Define any five of the following - (5x1-5

(1) OTU
(11) Phenogramsg

(ii1) Annotation labe|
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(iv) Taxonomic hierarchy
(v) Taxonomic rank
(vi) Lectotype
(b) Differentiate between any two: (2.572=5)

(i) Cladogram and phenogram

(ii) Flora and Manual

(i) Artificial and natural system of

classification

4 (z) Compare the classification system of Bentham and
Hooker with that of Engler and Prantl. (7)

(b) Write down the principlc of ICN. (5)
(1x3=3)

(¢) Explain the following -

(i) Cerasns cornutd wall, ex Royle
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(ii) Delphinium viscosum Hook.f. et Thomson

(i1) Srellaria media (L) Will

7100)
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P.T.O.



6021 2

SECTION A

(Inorganic Chemistry)

Attempt any three questions.

Question No. 1 is compulsory.

1. Explain the following and justify your answers :

(a) Aluminium chloride exists as dimer.
(b) PbCl, 1s more stable than SnClz.
(c) Boron does not form B3* ions.

(d) H,SO, is a strong reducing agent.

(e) Arrange HBrO,, HIO,, HCIO, in order of

increasing oxidising ability.

(f) First ionization enthalpy does not continue

the decreasing trend from Al to Ga and In to

TL
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(g) Nitrogen is an inert gas whereas Phosphorous is

highly reactive solid. (2,2,2,2,1.5,2,2)

2. (a) Why is Zn cannot be extracted from ZnO through

reduction using CO? Justify this statement using

Ellingham diagram.

(b) Why viscosity of sulphur first increases and then

decreases on heating?

(c) Describe any three properties of alkali metals in

liquid ammonia.

(d) Explain the concept of multicentre bonding.

(3,3,3,3)

(a) Explain purification by electrolysis.

(b) What is Electronegativity? Explain any two scales

of electronegativity.

P.T.O.
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(¢) Discuss allotropy of phosphorous.

(d) Show the reducing behaviour of hydrazine

and hydroxylamine with ferric chloride.

(3,3,3,3)

4.  (a) Why Be resembles with Al in its properties?

(b) Give name, formula and structure of any four

oxyacids of sulphur.

(¢c) What happens when PCl; and PCI; hydrolyses?

(d) Write short notes on any two :

(1) Carbides

(1) Mond’s process

(1) Calcination and roasting (3,3,3,3)
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SECTION B

(Physical Chemistry)

Attempt anv three questions.

5. (a) Write the mathematical expression for the Maxwell
distribution of molecular speeds of a gas. Briefly
explain the terms involved. How does the change
in temperature influence the distribution of

molecular speed?

(b) Calculate the most probable speed, average speed

and root mean square speed of CO, at 300 K.

(c) Derive the expression of collision frequency Z,

of a gas. (4.4.4.5)

6. (a) Define surface tension of a liquid. What are its SI
units. Describe the drop number method for the

determination of surface tension of a liquid.

P.T.O.
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(b) At 20°C time taken by equal volumes of water
and toluene to flow through a capillary tube is 109
and 62 seconds respectively. Density of water and
toluene are 998 and 866 Kgm™ respectively.
Viscosity of water at this temperature is 1x10-3
Nm2s. What is the value of absolute viscosity of

toluene?

(c) What is the effect of temperature on the viscosity

of a liquid?

(d) What is compressibility factor? (4,4,2,2.5)

7. (a) Derive the Bragg’s equation for the diffraction of

X-rays by crystals.

(b) Calculate the Miller indices of the crystal plane

which cuts through the crystal axis at:
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(i) (2a, 3b, 4c)

(11) (as -3bq ‘30)
(¢) Write short notes on any two of the following :

(i) Law of rational indices
(i1) Schottky and Frenkel defect

(111) Symmetry elements (4.5,4,2,2)

8. (a) Derive the integrated rate law equation for the
first order reaction. Also derive the expression

for tin for a first order reaction.

(b) Calculate the activation energy of a reaction
whose rate constant i1s tripled by a 1Q0°C rise in
temperature in the vicinity of 27°C. (R=8.314

JK 'mol ')

P.T.O.
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(¢) Describe the half-life method for the determinatigp

of order of the reaction. (4.5,4,9)

sannD)
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1. (a)If x and y are vectors in R", then prove that

() lx + yl2 = |Ix|I> + llyll* if and only it
x.y = 0.
P.T.O.

E———
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(i) 1If (x4 y) - (x=y) = 0, then | <,

(6%)

(h) If X = [4’ O, -—-3] and y = [3, 1, _7] be two VCCtorS
in R3, then decompose the vector y intg two

component vectors in directions parallel apg

orthogonal to the vector x. (6%)

(c) Define rank of a matrix. Also, find the rank of the

matrix (6'%)

31 0 1 -9
0-2 12 -8 -6
2 -3 22 -14 -17

2. (a) Solve the following system of linear equations using

Gaussian Elimination method

3)(] —_ ()x2 | 3x4 = ()

"2X, t 4x2 + 2)(3 —- X, = —11

4y (6)
X, = 8x, + 6x, + 7x, = =5
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7 1 -1
(b) Examine whether the matrix A=|-11 -3 2
18 2 -4

is diagonalizable. | (6)

(c) Let V be a vector spaée, and let W, and W, be

subspaces of V. Show that
(i) W, n W, is also a subspace of V.

(i) W, + W, defined by W, + W, = {w, +w,: '

w, € W, w, € W,}is also a subspace of

1
V. (6)

3. (a) Usethe Simplified Span Method to find a simplified

general form for all the vectors in span(S) where

) 0 0 , ! O} is a subset of M,y
5= o o|'|l1 -1/L0 1

t S linearly independent? Justify. (6%)
P.T.O.

Is the s€
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(b) Define a basis for a vector space. E
-+ EXamj
ne

whether the set

S = {[3,1.-1],[5.2,-2], [2,2, 1]} forms a pyq;
sis

!
for R? (6%
2)
1 1 -2
(¢) Let A={2 1 -3|. Using rank of A determine
5 4 -3

whether the homogeneous system AX = 0 has a

non-trivial solution or not. If so, find the non-trivial

solution. (6%2)

}

4 (a)Let' S ={[1,0], [1,-3]} and T = {[1,-1], [1. 1]

be two ordered bases for R2. Find the transitio”

matrix P : ) . R 3
x P, _, from T-basis to S-basis. If visin R

and [v] = [5,1], determine [v]. (6)
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(b) Let L: R? -5 R3 pe 4 linear operator and

L([1.0.0]) = [-2,1, 0], L(o0, 1,0]) = [3,-2,1]
and L([0,0,1]) = [0, -1, 3]. Find L([x,y,z])) for

any [x.y,z] € R’ Also find L([-3, 2, 4]). (6)

(c) Let L: R? » R? be a linear operator defined by

L([x,y]) = [2x -y, x - 3y]. Find the matrix for L
with respect to the basis T = {[4,-11, [-7, 2]}

using the method of similarity. (6)

5.  (a) For the graphic in the given figure, use ordinary
coordinates in R? to find new vertices after
performing each indicated operation. Then

sketch the figure that would result from this

movement.

(i) Translation along the vector [2, -1]. (6}2)

(ii) Reflection about the line y = 2x.

P.T.O.
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5 | 8 10
(b) State Dimension Theorem. Find a basis for Ker(L)

and a basis for range(L) for the linear

transformation L: R* —» R? given by (6'2)

X 5 1 -1
L (‘)’D = {-—3 0 1 ] [y] V(x,y,2)€ R3
B 1 -1 -1

¥4
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(c) Check whether the linear transformation L - P3 o p2

defined by
Lax’ +bx>+cx+dy=ax?+bx + c

is an isomorphism or not. (6%)

6. (a) Find a least square solution for the following

inconsistent system

1 -1 0

4 1("}:4. 6)
y

2 3 5

(b) Let W = span{[8, -1, -4], [4, 4, 7]} and v = [1,2,3]
€ R*. Find proj,, v, and decompose v into w, + w,,

where w, € W and w, € Wi, (6)

1

P.T.O.
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(c) Let W be the subspace of R’, whose vectors lje

in the plane 2x — Sy + z = 0. Find a basis for W

and its orthogonal complement, (6)
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Section A

(Inorganic Chemistry)

Attempt any three questions.

Question No. 1 is compulsory.

Explain
(a) Pb(II) is more stable than Pb(IV). Why?

(b) Why Gallium is smaller in size as compared to

Aluminium?
(c) Differentiate between mineral and ore.

(d) At room temperature Oxygen exist as a diatomic

gas but sulphur exists as S; solid molecule.

(¢) The chemical and physical properties of Li and

Mg are similar.

(f) Diamond is hard but graphite is soft and slippery

in nature,
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(g) The chemical reactivity of noble gases is very

low. (2,2,2,2,2,2,1.5)

2. (a) Arrange the following Boron trihalides in

increasing order of their lewis acidity: BF,, BCl;,

BBr3

(b) “Orthoboric acid is a weak monobasic acid”.
Justify this statement. Can we titrate orthoboric

acid using NaOH?

(c) Write down the two preparation methods of
Borazine. Also discuss the difference in the

chemical properties of Borazine and benzene.

(d) Write a short note on Mond’s Process.

3,3,3,3)

3. (a) Arrange the following alkali meta] ions ip

increasing order of their hydration radii;

Li*, Na*, K*, Rb*, Cs*
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(b) SiCl, reacts with water to produce Si0, but CCl4

do not react with water. Explain.

(c) What are silicates? Discuss the different types of

silicates with suitable examples.

(d) Draw the structure of P,O, and P,O,, molecules.

Also discuss the formation of different products

on hydrolysis of these phosphorus oxides.
(3,3,3,3)

(a) Discuss the difference in the geometry and basic

nature of trisilylamine N(SiH,), and trimethylamine

N(CH,),.

(b) Draw the structure of following oxyacids of sulphur

and also find out the number of S-S bonds in the

structure of molecules :

HZSOS’ stZOS’ HZS2O6



6137 S

(¢) Arrange the following oxoacids of halogens in their

increasing order of acidic behaviour and explain:

HCIO, HCI0,. HCIO,, HCI0,

(d) Discuss the difference in the geometry of XeF,

and XeO,F,. (3,3,3,3)

Section B

(Physical Chemistry)

Attempt any three questions.

5. (a) Derive the relations :
P_=a/27b? T, = 8a/27Rb
(b) Explain the factors which led van der Waals to

modify the ideal gas equation pV = nRT and hence

derive the van der Waals equation of state.

(c) Calculate the most probable speed, average speed

and root mean square speed of O, at 300 K|

(4,4,4.5)

P.T.0O.
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6. (a) Define coefficient of viscosity. What are its gJ
units. Describe Ostwald’s method for the

determination of viscosity of a liquid.

(b) In a surface tension experiment using a
Stalagmometer, equal volumes of two liquids A
and B give 55 and 25 drops respectively. Their
densities are 0.80 and 0.99 g cm™ respectively.
Determine the surface tension of liquid A if the

surface tension of liquid B is 72.6 dynes cm™!.

(c) The viscosity of gas increases with temperature

while that of liquid decreases with temperature.

Explain.
(d) What is Boyle temperature? (4,4,2.5,2)
7. (a) When a certain crystal was studied by the Bragg

technique using X-rays of wavelength 229 pm, an

X-ray reflection was observed at an angle of

23°20°,
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(i) What is the corresponding interplanar

spacing?

(i) When another X-ray source was used, a
reflection was observed at 15° 26°. What

was the wavelength of these X-rays?
(b) Describe all the symmetry elements of a cube.

(c) Write short notes on any two of the following :
(1) Law of constancy of interfacial angles
(1) Unit cell and space lattice

(1) Axis of symmetry (4.5,4,4)

(a) Derive the integrated rate law equation for j

second order reaction when the initial
concentrations of both the reactants are same

(b) Show that for a first order reaction the time

required for 99.9% completion of the feaction ;
18
10 times that required for 50% complet;
I0n. A]
SO

B T e

derive the expression for t, .

PTo
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(c) Write short notes on any two of the following :

(i) Activated complex theory
(i) Arrhenius equation

(iii) Role of catalyst on the rate of a reaction

(4.5,4,4)
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SECTION A

(Attempt any three questions)

(a) What happens when (Give balanced chemical

equations) — any four

(i) KMnO, reacts with a ferrous salt in acidic

medium

(ii) SO, gas is passed through acidic K,Cr,0,

solution
(iii) K ,Fe(CN), is treated with conc. H,SO,

(iv) Oxalic acid is added to acidic KMnO,

solution
(v) K ,Fe(CN), is added into CuSO,

(b) Write the chemical equation for the evolution of

chromylchloride gas. Which anion can be

confirmed by chromylchloride test?
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(c) Draw the structure of the following :
(1) [Fc(CN)(‘]“
(1) (,‘1'2072

(i) MnO, (4,4,4.5)

(a) What are organometallic compounds? Draw the

structure of Zeise’s salt and ferrocene.

(b) The symmetric CO stretching frequencies in
[V(CO)I, [Cr(CO),] and [Mn(CO),]" are 1860,
1980 and 2090 cm™' respectively. Explain these

observations.

(c) Predict the value of ‘x’ in the following using 18-

electron rule.
(1) Fcz(CO)x

(i) Mn,(CO), (4,4.4.5)

P.T.O.
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3. (a) What is meant by active transport? Why is the

Na-K pump an example of active transport?

(b) Explain the following :
(i) The role of Mg®" in energy production.

(ii) Draw and discuss myoglobin and
hemoglobin binding curve at different

partial pressure of O,.

(c) What do you understand by the term essential,
non-essential and trace elements in biological

systems? Give one example of each.  (4,4,4.5)

4. (a) Discuss synergistic effect in metal carbonyls.
Using MO diagram of CO, explain why it acts as
an electron donor and acceptor through carbon

and not through oxygen?
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(b) Give biological significance of transferrin and

ferritin.
(¢) Give a method of preparation for the following :
(1) KMnO,
(i) K,Fe(CN),

(iii) K,Cr,0, (4,4,4.5)

SECTION B

(Attempt any three questions)

1. (a) Arrange the following in increasing order of

reactivity. Give the reasons.

Naphthalene, Benzene, Anthracene.

(b) Why electrophilic substitution takes place at C-2

in case of furan ipstead of C-3?

PTo
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(c) What happens when
(i) Pyridine is treated with bromine at 300°C
(i) Thiophene is reduced with hydrogen in the

presence of nickel. (4,4.5,4)

2. (a) Distinguish the following pairs of compounds by

IR spectroscopy
(i) CH,CH,CH,COOH and CH,CH,COOCH,

(iiy CH,COCH,CH, and CH,CH,COOCH,

(b) Calculate A__ for the following :

Basic value = 214
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0

A

(11) Basic value = 215 nm

(c) Give the absorption range of UV-spectroscopy.
(5,6,1.5)

(a) Differentiate between bathochromic shift and

hypsochromic shift.

(b) Synthesise the following using ethyl acetoacetate

as starting material.
(i) Adipic acid

(ii) 2-Methyl butanoic acid

yrrole.

(4,5,3.5)

(c) Draw the resonating structures of p

P.T.O.
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4. (a) Write down the synthesis of 4-mcthyl-2-pentanone

using ethyl acetoacetate and crotonic acid.

(b) Give detailed mechanism for synthesis of ethy]

acetoacetate starting from ethyl acetate.

(¢) How did Knorr separate keto and enol forms of

EAA? (4,5,3.5)

i
E
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1. (a) Round-off the number 34.64867 correct up to three
significant digits and then calculate absolute

percentage error. (6)

P.T.O.
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)

(b) Find the absolute, relative and percentage error if
the approximate value is 2.7182 and the true valye

18 271828182, (6)

(¢) Perform four iterations of the bisection method
to find the approximate root of the equation

X"+ 2X — 1 = 0 in interval (0,1). (6)

(a) By using the Regula-Falsi method find the
approximate root, correct up to two decimal places,
of the equation x* — 6x + 4 = 0 in the interval

(0.1). (6.5)

(b) By performing three iterations of the secant
method find the approximate root of the equation
x* — 5 sin x + 1 = 0 in the interval (0,1).

(6.5)

(c) Using the Newton-Raphson method find the
approximate value of the cube root of 25. Perform
three iterations of the method by taking initial

approximation x, = 2.8. (6.5)
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3. (a) Using Gauss elimination method solve the following

system of linear equations : (6)
Xx + 4y -z = -5
X +y—6z=-12

3x —y —z = 4.

| :
(b) Show that E — 1 = 562 + Su. (Note: Symbols

have their own meaning) (6)

(c) Find the Lagrange interpolating polynomial which

fits into the given data and approximate the value

of f(5.5).
X 5 9
f(x) | 12 | 13 | 14 (6)

P.T.O.
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4. (a) By using the initial solution (0,0,0), perform th
’ ree
iterations of the Gauss Seidel method for th
e

following system of linear equations : (6.5)
10x + 2y +z2=9
2x + 20y - 2z = —44
-2x + 3y + 10z = 22.

(b) Obtain the piecewise linear interpolating polynomial

for the function f(x) defined by the given data and

by using it estimate the value of f(3).

X 1 2 4 8
f(x) 3 7 21 73

(6.5)

(c) Following table gives the amount of half yearly

ring at different ages:

~ premium for policies matu
e R R (6.5)
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! Age (in yea—rsm)wg as T 65
Premium (in | 1484 | 68.48
Rs.)) ‘l
- A |

D —

Make the difference table. Obtain the forward
Gregory-Newton interpolating polynomial and
estimate the premium for policy maturing at the

age of 46.

5 (a) For the following data, find f'(2) and f"(2) by

using forward difference formulae

f'(x )= f(x +h)-f(x) and

h

‘ "lx+h +f(x +2
)= HD2008 1) 20

P.T.O.
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20 | 5 )

(b) For the function f(x) = In x, approximate £(2) by

Richardson extrapolation using central difference

f(x+h)—f(x—h)
h 2h

formula f'(x) with h= 0.1 and

= 0.05. (6)

(c) Use the formula

f'(x zif(xi)“lf(xi —h)+f(x, -2h)
| 2h

'O approximate the derivative of f(x) = sinx a!

X =m, taking h = 1, 0.1, 0.01. (6)
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6. (a) Approximate the value of (In 2)’ from I

X

using Trapezoidal rule and Simpson’s 3 rule.

(6.5)

(b) Apply the Fleun method to approximate the solution

of the initial value problem

ﬂ=1(1+x)y2, 0<x<l, y(0)=1,
dx
by using 5 steps. (6.5)

(c) Given the initial value problem (IVP):

y

Q—\Q-
® <<

P.T.O.
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8

Find y(0.5) and y(0.75) by using the moq
. Odifieq
Fuler's method Also find th
. e absolute
Crror at

cach step given, that th
, e exact soluti
10n of th
¢

IVP is y=v2¢e" -1.
(6.5)
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(3]

(U9

4.

(g) Define the terms microstate and macrostate of a
thermodynamic system.

(a) Explain reversible, irreversible and quasistatic

processes with the help of examples. (6)

(b) On the basis of the first law of thermodynamics,
establish the expression for C,— C,, for a perfect

gas. (5)

(¢) The temperature of 5 g of air is raised by 1°C at
constant volume. Calculate the increase in its
internal energy in Joules. (Given Cy = 0.172 cal

g °C! and 1 cal = 4.181J) (4)

(a) Explain Carnot’s cycle with the help of a diagram.
Derive the expression for the efficiency of a
Carnot engine. (10)

(b) Calculate the change in entropy when 1 kg water
at 27°C is converted into superheated steam at
200°C under constant atmospheric pressure.
Specific heat capacity of liquid water 1s 4180 J/
kg/K; temperature dependence of specific heat
capacity of steam is given by the relation (1670 +
0.49 T) J/kg/K at T Kelvin. Take latent heat of
steam as 23 x 10° J/kg. (5)

(a) State the law of equipartition of energy and apply
it to derive the specific heat of monoatomic,
diatomic and linear triatomic gases. (8)

P.T.O.
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(b) Derive the expression for the coefficient of

viscosity on the basis of kinetic theory of gases.

What arc the factors on which viscosity depends?

(5,2)
5. (a) Explain the distribution of energy of a black body
at different temperatures by drawing the graphs.
Discuss the laws which explain the energy
(5,5)

spectrum.

(b) Two large closely spaced concentric black body
spheres are maintained at temperatures of 400K
and 600K respectively. The space between the
two spheres is evacuated. Calculate the net rate

of energy transfer between the two spheres.

3)

6 Describe the Joule-Thomson porous-plug experiment
.nd discuss the results. Hence obtain the expression
for Joule-Thomson coefficient. What is temperature

of inversion? (7,5,3)

ST W S B R SOTERY  Se

7 (a) Derive an expression for thermodynamic probability

s o W

and the most probable distribution function for a
(10)

—

system obeying Bose-Einstein statistics.

——

(b) Derive the expression S = k logW where symbols

(5)

have their usual meanings.

(1000)
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PART A Total markg _ '3;(,”);.30 fhafk
— Narks

] (}x) With the naive devotion of Shabarl I drranged n,;

food on your plate

But the moment you looked at tie plate, you‘r'. facc

changed

With a smirk you said Oh 'I\/.I.y—'I’)é y(')u- scrvechutny
koshimbir this way? |

You still don’t know how to serve fo':od'," ‘.

Truly, you folk will never improve.

(1) Identify the poem and the poet,’ - (2)

(i) Bring out the significance of the reference
to Shabari in the poem and also comment

on the use of the nwords.“‘yp'u'folk"- .("“

(i) Bring out the symbolic ixnpf)fvwln'ce")f _fog,d |

in the poem. AT o (4} '
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| .w':e"r-c truckers of »another kind,
l&(\kif\g \)(wlwéfullyf (years away

trom Sialkot z;nd Chandigarh)

_t‘(f;r. ‘the'. taste of our mother’s

~hand in the cooking.

(i) Identify the poem and poet and explain

iin- the first

) - the reference to ‘Sunday’
(2)

- line.
- (,ii) Explaih the significance of “Wembley, the
and w'hy it 1s a

(4)

- Lahore Karhai”,

«pilgrimage” for the visitors

.(iii.) Examine the role of nostalgia and memory |

" in the poem. (4)

OR

P.T.O.
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(b) What does Naomi Klein mean by the “reign'of
, |

logo terror™? Explain with examples, (10

PART B Total marks- .34'20_'4—',60 mark-,.

) Education of the masses is“centr'gl to I"h_utg"-s vision
| of change. Discuss his é'rili'qu_e of . the Briiish
education policy in the .lig‘ht of this. s_iétement. -

OR

(o) Critically examine Valmiki’s representation of the
impediments to the Dalit c'hild’-.s.struggle for

education.

- 'a) Henry Reed’s “Naming of Parts” functjons as 3"

ironic comment on the unnaturalness of war g
Yrw e . . . © i hitary
juxtaposes the world of nature with that of militar:

. : 472
warfare, Discuss. L (20




OR

(b) With reference to- Any TWO writers from your
course. examine how the SC“SCICSsncgg and
the trauma of war and conflict is underlined by

them

6 ar colombe employs the figure of Christopher
Columnbus 10 comment on Western expansionism
trom the point of view of the colonized. Discuss

nd claborate. ® (20)
OR

o) Critically comment on how Chitra Baneijee
Divakaruni uses cultural symbols like food and
Cinema to bring out the day-to-day, lived, quality
of the immigrant experience in ‘Indian Movie, New

lersey’

‘a) Literature can cffect a change in social attitudes
by drawing attention O societal evils and
mequalities. Elaborate with reference to Any TWO

(20)

writings prescribed in your course.

P.T.0.
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OR

iters yOur
(b) With reference Any TWO writers from 5

. . » -{/‘vn’)
course. examine how literary reprcsentatl

: . ) PR ‘ ";f-_')—l
engage with larger social and politica: structire

and events.
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(F)

4

(iv) Net factor payments from abroad

(\) Private saving

(\1) Government saving

(vi1) National saving
st wfafaf @ A @ O gfewm Far 27 2
T I A ;| 27 e W
vE wiemgen & @R X e smea & w1 2
FFw Aot wg FRw = 40
FHA A ATHA F WE | = 30
FFa a2 39 (GDP) = 200
e |@H A9 = - 20
& = 60
oy fAl 87 W WE EEE WA = 25
sEn @ Wy A 81 W W Ee = s

(WA A fa WER g0 W e AR R IR ®
W ¥)

vy fava & wE wue W = 7
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Jy R @ W T wRE T = 9

frafafag 79 O :

(i) ST

(i) g& Fa

(i) ¥ wReg, e

(iv) few d 7€ & Fa=
(v) PRt owm

(vi) @@ T=q

(vii) T =

3. (a) What do you mean by cyclically adjusted surplus

and why it might be more useful than the actual
or unadjusted budget surplus? (Diagram required)

(10)

(b) What do YOu mean by business cycle? Explain the
four stages of business cycle with the help of

‘ diagram. (8)
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(m,mmammm%mmme
Wk ar arEfas w FEaafiE 9 At A st
g @@ R wEa R7 (ARE AT )

(\) =R 9F A 9 ¥ T 87 AR TH B AR RO
F i A wFEa ¥ FwHEEy |

4 (a) What do you mean by unintended inventory
investment? Explain the situation when it becomes
negative and positive with help of diagram. (8)

(b) Suppose we have an economy with the following
function : (10)

C =50 + 08Y,

I = 70

G =200
TR = 100
t=0.20

(1) Calculate the equilibrium level of income
and the multiplier in this model.

(i) Calculate budget surplus, BS.
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(it1) Suppose that t increases to 0.25. What is

the new equilibrium income? And the new

multiplier?

(1v) Calculate the change in the budget surplus.
Would you expect the change in the budget

surplus to be more or less if ¢ = 0.9 rather
than 0.8?

(v) Can you expldin why the multiplier is 1
when t=1?

(%) sFfem TG Pm ¥ s T A 37 99 Rl
) TERE & qEEar A TEEE 96 I8 RIS AR
FEAHE 8 ot 2l

(@) w S f T e Freefofad e awet srisraen
L$

C =50 + 0.8Y,

I =70
G =200
TR = 100

t =0.20



(i) W AR T 025 B T B T AL
s w27 AR T AU

(iv) o AW ¥ qRad @ A HR) T IN
I w0 B ok c=08 @ T@ 09 A A
ma&ﬂwﬁ'mmmmﬁw

(v) T E R aw =1 A T
| = 27

q . . . -
_ (a) How are desired consumption and desired savings

-

affected by increase in current income expected

future income and wealth? (9

(b) Explain the goods market equilibrium in the open
9

economy. (With the help of diagram)
(=) Wmiaﬁmwﬁma&msﬂtwi

g ¥ afom I e R waw Bd IRE O
37
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6.

(@) G sfmaen ¥ e AR GgeH o R FW
(e &t 98I /)

(a) Why do we call mechanisms such as proportional
income taxes and the welfare system automatic
stabilizers? Explain carefully how and why these

mechanisms affects fluctuations in output. (10)

(b) Explain the concept of money multiplier. What is
the relationship between supply of money, demand

for money and money multiplier? ~ (8)

(%) T0 FETEE S WA FEO FOOA WG A
e RaaEed T FEd 87 S ¥ e B A
77 AT ¥ IAR-TeTE H B R T IR F
4

(@) gamaﬁmmaﬁmﬁﬁlﬁwﬁmﬁ,ﬁﬂ
£ w IR YE PE @ 9 w0 Gy 27

(a) What do you mean by multiplier? Show the etfects
of changes in fiscal policy on the equilibrium level
of income. (With the help of diagram) (10)

(b) Suppose that a person’s yearly income is $60000
Also suppose that this person’s money demand
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10

function 18

(1)

(i1)

(iii)

(1v)

M¢ = $Y (0.35 - i)

What is this person’s demand for money
when the interest rate is 5% and 10%

respectively?

Using part (i), explain graphically how

interest rate affect money demand.

Suppose that the interest rate is 10%. In
percentage terms, what happens to this
person’s demand for money if her yearly

income is reduced by 50%?

Suppose that interest rate is 5%. In
percentage terms, what happens to this
person’s demand for money if her yearly
income is reduced by 50%? (8)

(F) o & AT T THES E7 I B GO T W
TaErE AR # wRadT @ vl @ Read (eRE
& |ggar 4)

(@) #= oifoe f& & =fm o affes s $60000 2
78 W 9 A & @ =l w1 a4 Wi wew 08 2
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M! = $Y (0.35 i)

(i) @ S R FAW 5% AR 10% B A 7@ A
& A A AW T 27

(i) WA (i) % ITEN F qQ, Wk ¥ & TR
f = W A A AT F DY gl w
1

(i) = A B e 0% B AREE B e
¥ af @ @R & afts @ 50% A A
W 2 @ AE W AT w et

(v) W dfo = W 5% B v @ e
¥ R @ wf @ affE J@ 50% FH B
TR R @ qE A WA F wm?

8. (a) What do you mean by output gap? Explain positive
and negative output gap. 1 (8)

(b) Write a short note on the following : (10)
(1) Implicit Deflator
(1) Corn Economy

(iti) Open market operations

P.T.O.
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(1iv) Actual reserve ratio

(v) Potential GDP

(w) sy M A HW W A LEGIC At C
ERE HITYC FA T GHAAIY

(m) ffafas @ ue At ol ford :
(i) saffRa soedifaere,
(1) #E srfamae,
(i) G AR G,
() - arfam s s,
(v) e qoe we I |

(2000)
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WW-W%Mﬁgmﬁqmmmmmm
SECICISICINL

> X 5 T B |

3 el I ® I TR

4. R R & A P ¥

5. =9 Y- U T IR el A1 7St fhdt vep s F Qe o
T ITRI T AEAH U B BT A8V |

1. Distinguish between hazards and disasters. How can

disasters be classified?

T IR FUS B AT X T Y | ISR A

FiF f&g geR fRar o gaar @ 7

2.  Describe disaster management cycle explaining the

different phases.

S AT T R AR RO Y EE §C T
HR |
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3.

h

[

Discuss the concept of community based disaster

management and its role in disaster management of a

region.

qHer IMUIRd H9er yEuw &) Jguwon AR R & B
e YEUT HgEE W W el @i |

‘Floods are the most inevitable and lethal of natural
disasters 1n India’. Explain.

'HRA A W Wl saers ¥ qed aRerd 3w 1
W Hfd |

Discuss the risk of earthquake in India and elaborate

on its mitigation measures.

WA ¥ Y B @R W TE A AR T A STA W
famw & ==l & |

Describe various types of human-induced disasters

with particular emphasis on fire incidents.

'maﬁmaﬁ'qzﬁﬁwvh?%%@%ﬁ??maﬁwm—

R 3gerst @ auid @i |

Elaborate on global strategies for disaster

management.
5 M 6
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Wwﬁmaﬁmw@fﬁwﬁwawm,

Discuss in detail the Disaster Management Act, 2005
ol India.

wd @ anuer vEuR sifuffaw, 2005 @ fEw @ =
R |

QO Write short notes on any two :-
(a) Vulnerability

degdr

-

(b) Drought disaster management in India
qRd | 9@ J9er e
(¢) Nuclear Disaster

qTAIY] HTIE

(d) PM 10 Point Agenda on Disaster Risk Reduction

o WA e W S 10 T TS

{1 500)
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Section A

Assume numpy has been imported as np and pandag

has been imported as pd.

1. (a) Explain unimodal, bimodal and multimodal

distribution with the help of examples. (5)

(b) Consider the DataFrames First and Second given

below : (5)
, One Two One Two
0 'A' 0 'R
2 'B! 1 c!
5 lDl 5 lE!
6 'C! 2 ‘Al
First Second

Consider the following python code segment :

right = pd.merge(first, second, how='"right', on='One")

left = pd.merge(first, second, how="inner', on="Two')

Show the content of the new DataFrames right

and left.
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(¢) Write python commands to create a figure object
using matplothib. The Figure object has one subplot
that contains 3 line graphs. Define legend and chart
title of the graph. Define a different style and

colour for cach line in the subplot. Import

(5)

appropriate libraries.

(d) List and describe the steps involved in process of

Data Analysis. (5)

(e) Give the output of the following code snippets:

(4)
(i) y=np. arange(l2).reshape(4,3)
print(y)
yl(y>35)] = ~1

print(y)

(i) x = np.array ([[2,4], [5,1]1])
z=np.ones_like(x)
print(z)
w=np.eye(2) * x

print(w)

P.T.O.
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(f) Consider the series S1 and S2 given beloy - (

Give the output of the following python pandas

S1

commands :

(i) S1[: 3] * 10
(ii) S1 + S2

(iii) S2 [: : =11*5

Section B

A
B
D
E

2. (a) Consider the DataFrame Frame given below : (N

Name Age Weight Height |
Ram 15 45.6 140
Ravi 23 34.9 160 |
Reena 32 45.6 145 |
Rita 20 60.7 155 |
Rishi 33 54.7 170
Romi 21 34.6 144
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Write python commands to perform the following

operations

(1) Compute the correlation of Age with both

Weight and Height.

(1) Sort Frame in descending order of Age.

(1) To find the index for the row with minimum

Age.

(1v) Calculate cumulative sum for Weight for

all Students.

(v) To set height of ‘Rita’ and ‘Romi’ to

NA.

(vi) Replace the value 32 with 18 and 33 with

19 in Age column.

(vii) Define map function to convert values of

Name column to upper case.
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(b) Refer 10 the DataFrame Frame gjyep in question
2 (a), Write a python program tq perform ¢
2 e
following operations in the given dataset with

columns Name, Age, Weight, Height. (8)

(i) Create a figure and include 2 subplots ip

it.

(i) In the first subplot create a scatter

plot between two variables Age and

Height.

(1) In the second subplot draw a horizontal

bar plot between Name and Weight.

(iv) Set the title for the figure as ‘Data

Analysis’.

(v) Give appropriate labels for x and y axis.

(vi) Save the figure to file with name

"analysis.png’.
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3. (a) Consider the following numpy array matrix :
(10)

[15,10,20],
[20,13,43],
[34,27,67],
[12,46,77]]
Give the output of the following numpy commands :
(1) matrix.T
(11) matrix[:1,1:]
(iii) matrix[[1,3,0],[2,1,0]]
(iv) matrix[[-2,-4]]
(v) matrix[[True, False, False, True]]
(vi) matrix[3] [:2]

(vii) matrix[::—1]

P.T.O.
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(Vi) matrin ndim

N np oswapaxestmatoxg 1)

(\) matnxt 10

Consider the tollowing Databrame df.

(5)
~ Items | Sugar Type Price
~ Yogurt Low Fat 45
N Chips Regular 30
T Soda Low Fat 50
"~ Yogurt High Fat 70
" Cake Regular 140
.~ Chips Low Fat 40
~ Yogurt Regular S0

~¢ commands to perform the following operations:

) List the name of unique items sold.
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(iv) Give the average price of all Low Fat

1iems.

(v) Check if ‘Juice’ ims one of the items

sold.

4. (@) Consider the DataFrame data given below. (4)

One Two Three | Four | Five
1 14 34 NaN NaN
34 21 NaN 12 NaN

NaN 23 NaN 2 NaN
34 21 32 33 NaN

Write python commands to perform the following

operations :
(i) Drop columns with any null values.

(ii) Replace the null values with the mean of

each column.

(iiiy Drop the null values where there are at

least 2 null values in a Tow.

PT O
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2012
(iv) Replace all null values by the j,4 -
| n
valid observation
o) What are outhiers? How can you detect out)jg,,
using bovplots? N
Consider the given numpy array mat : (6)

mat ]]P.{“.ra}/([[['—laz]a [3a4]], [[-5>6]9 [7a8]]])

Write numpy commands to perform the following

operations :

(i) Create an array of zeros with the same

shape as mat.
‘1) Print the shape of the mat.

(i) Print the datatype of the elements in mat

(iv) Print the elements which are greatc! than

6 in mat,

! p 18 ﬂ(’ut
(v) Convert all the elements n mat 4°

type.
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2012
ch element in mat with 25.

(vi) Multiply ¢a

python commands to create @ dictionary

5. (a) Give the
‘A°. ‘B’, ‘C’, ‘D', ‘g’ and value as

with 5 keys -
follows. (10)
Key Value

A List of numbers from 1 to 10 skipping 2 ata time .

B List of Strings from A to E.

C List of 5 numbers obtained using random normal

distribution function.
D Listof 5 random integers from 20 to 30.
E Square root of 5 random numbers from 50 to 70.

Give python commands to perform the following

operations :

(i) Create DataFrame data using the above

dictionary.
(ii) Convert Column A to index.
(iii) Rename the rest of the columns as Area,

Temperature, Latitude and Longitude.

P.T.O.
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12
. Jete the column Longi
(l\') I)Lllt( gltll(lc fr()m data_

(v) Save data as a csv with separater ag ¢

b

(b) Write a python code to create a figure ang X

(a}

(=)

subplot using matplotlib functions. Plot a rectangle
of size 3.5 x 8.5 at point (2.0, 7.0), a circle of
radius 2.5 at point (7.0, 2.0) as patches in the
subplot, functions for plotting. Set the colour of
rectangle as ‘Green’ and color of circle as ‘Blue’.

Set the x-scale and y-scale to 1-10. Import

appropriate libraries. (5)

Consider the following dataset student. (10)
Yegﬁ: Name Roll No | Marks Age

: | Rani 23 70 | 18

2 | Rita 24 75 | 20

° | Raj 25 80 | 22

© | Rahul 26 65 | 20

¢ | Rohit 27 g0 | 28 —

mands :

Give the output of the following python co™

() student [['Roll No ', Name'l] [2:4]
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(i) student [student ['Age'] ~20]
(i) student [student ['Age'] ~20] ['Name'|

(1v) avg marks np.mcan (student.Marks)

student|student|['Marks'|>avg marks]

(v) first = student [student ['Year'] ==1]['Marks']

np.mean(first)

(b) Consider the following list 11. (5)
11 =110, 10, 20, 40, 50, 60, 70, 80, 90, 90]

Discretise the 11 into 4 bins using cut() and qcut().
Give the names [‘first’, ‘second’, ‘third’, ‘fourth’]
to the bins. What type of object is returned by the
pandas after binning? What output is generated

by attributes codes and categories of binning

object?



2012

7. (a) Consider the DataFrame df given below - (8)
[ EmployeeID | Department S_aiax:yh_:égT
1001 English 1000 23
100> English  [1002 |34
553 English | 1004 |39
004 [English — [1005 (a3
1003 Maths 1004 34
1004 Maths 1005 43
' 15‘} VVVVV Maths 1006 53
11002 Maths 1002 43

Write the python code to perform the following

operations :

(1) Create a hierarchical index on Department

and Employee ID.

(1) Give the summary level statistics for each

(1) Give the output for the following :

column.

1. df.stack()

2. df.unstack()
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(b) Give the output of the following code segment ;

(4)
arr — np.array([89, 54,76, 32,47, 21, 92, 39, 82))

arrl = arr[5:9]

arr2 = arr[5:9].copy()
arrl = 36

arr2 = 7

print(arr)

print(arrl)

print(arr2)

(c) Consider the series a given below and give the

output of the following commands : (3)

a = pd.Series([4, 1,7,1,8,9,0, 8.2,3,9)

(i) a.rank()

P.T.O.
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(i1) a.rank(method “first’)

(111) u.runk(usccmling False)
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Your Roll No...............
Sr. No. of Question Paper : 2033 F
Unique Paper Code . 2354001202
Name of the Paper . Introduction to Linear

Algebra

Name of the Course : GE
Semester 11
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt all question by selecting two parts from each
question.

3. Part of the questions to be attempted together.

4. All questions carry equal marks.

1. (a) If x and y are vectors in R" then prove that

x.yl < (IxIDAlyID-
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Also verify it for vectors x = [-1,-1,0] ang

y=[ V2242,

(b) Use Gaussian Elimination to solve the following

system of linear equations. Indicate whether the

system is consistent or inconsistent. Give the

complete solution set, if consistent.

3x — 3y — 2z =23
_6x + 4y + 3z = —40
2x +y+z=-12

(¢) Use Gauss-Jordan row reduction method to find

the complete solution set for the following system

of equations.
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2. (a) Define rank of a matrix. Find Rank of the matrix

>

Il

& W
N N
S 0w

(b) Find all Eigen values corresponding to the matrix
A. Also, find the eigenspace for each of the eigen

: 12 -51
value of the matrix A, where A= ) 1l

3 1 =2
(c) Let A=| 4 0 1 |. Determine whether the
-2 4 3

vector X = [5,17,-20] is in row space of the
matrix A. If so, then express X as a linear

combination of the rows of A.

3. (a)Let V be a vector space. Let H and K be
subspaces of V. Prove that H n K is also a
subspace of V. Give an example to show that

H u K need not be a subspace.

P.T.O.
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) Prove of disprove that the set S ={ [1’2,1] (1.0

(1.

(b |

1,0]} forms a basis of R?.

(¢) Use the Diagonalization Method to determipe

whether the matrix A is diagonalizable. If g

specify the matrices D and P and verify that

p 'AP = D, where
19 48
A= .
g 21

4 (a) (1) Let S = {(x,y,2): x+Ty=2 vx,y,z € R}

Show that S is a subspace of R’.

(i) Consider the vector space My(R) and the

sets
T,: the set of nonsingular 3%3 matrices

T.: . . .
,- the set of singular 3x3 matrices.

Determi ‘
rm - P, ~OQ Ot
ine T, and T, are subspaces

M..(R) or not?
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(b) Define linearly independent subset of a finite
dimensional vector space V. Use Independent Test
Method to find whether the set S = {[1,0,1,2],
[0.1.1.2] [1,1,1,3], [-1,2,3,1] } of vectors in R* is

linearly independent or linearly dependent.

(c) Define basis of a vector space V. Show that the
subset {[1,0,-1], [1,1,1],[1,2,4]} of R® forms a basis
of R

5. (a) (i) Determine whether the following function is

a Linear Transformation or not?
L: R3 > R? given by
L([x}, X5, X3]) = [Xp, X5, X, ].
(ii) Suppose L: R3 - R ?is a linear operator and

L[1,0,0] = [-2,1,0], L[O,1,0] = [3,-2,1] and
L[0,0,1] = [0,—-1,3].

Find L[-3,2,4]. Give a formula for L[x, y, z],
for any [x,y,z] € R

P.T.O.
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(b

(C)

g » linear Transfor i :
) Considet the line mation L: P (R) -

M. ,(R) given by

“38—20 _b+4d }

Find the matrix for L with respect to the standard
basis for P, and M, ,. Also, Find the dimension of

Ker(L) and Range(L).

Let L: P, > P, be given by

L(p) = |p, for, p € P,

Where, IP represents the integration of p.

Find the matrix for L with respect 1O the
standard basis for P, and P, Use this matrix to
calculate L(4x? — 5x2 + 6x ~ 7) bY matrix

multiplication.

6.
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6. (a) Let L: R? 5 R? be given by

X, 5 ~1][ x, |
LIfx, [ [=[-3 0 1] x,
(X)) LT =1 =1 x|

(1) Is [1,-2, 3] in Ker(L)? Why or why not?

(1) Is [2,-1,4]in Range(L)? Why or why not?

(b) Consider the linear Transformation L: M3x3 -

M., given by

CETAR BN TR IS S

L(A) = A — AT,

where, AT represents the transpose of the matrix

A. Find the Ker(L) and Range(L) of the Linear

Transformation, and verify

dim(Ker(L)) + dim(Range(L)) = dim(M,_,).

(c) Suppose that L: V — W is a linear Transformation.
Show that if {L(v)), L(v,, ..., L(v)} is a linearly

independent set of n distinct vectors in W, for



'

('S

SOIn
v
(r

the

Q V / \Y% = :
L‘ \t\t‘t‘)l.\ \ Is \"ﬂ b n V’ t—l](an {V" Vz, 5
*y
s lincarly imdependent set in V., Is the Converse

n

Lo Justify with examples. Under what conditiop

~onverse holds true, Justify.
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I.  Attempt all the questions:

rce of light of wavelength 500 pp With
(a) A sou |
ity 2W/m? is incident normally op ,
intensi Z
2 :
photosensitive surface of area 2 cm?2. Determine

the number of photons emitted per second, provideq
e

5% of the incident photons produces

photoelectrons.

(b) Enlist two shortcomings for the Rutherford Atomic
model.

(¢) Show that the nuclear density is independent of

the number of nucleons.

(d) The halt.

. _ N
life ofa radioactive nucleus is 20 day
W hat iS lts

ean
decay constant and m

lifetime9
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(¢) What arc the criteria for g well-behaved wave

function?

() Is it possible for U-232 to decay into Pa-231 by

emitting a proton? Given m . = 231.035880 and
m_ = 1.007825.

)

= (a) When an X-ray photon is scattered by an electron
(assumed to be initially at rest in the laboratory
coordinate system), show that the change in the

wavelength of the scattered photon is given by

A\ = h/moc (1 -cos 0)
where mg is the rest mass of the electron and

is the angle through which the photon is

scattered.

P.T.O.
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(b) Distinguish between Phase velocity and Group
velocity. Obtain an expression for them and also
deduce the relation between them for dispersive

medium.

(c) The work function of Potassium is 2.2 eV. If UV
light of wavelength 300 nm and intensity 2 W/m?

is incident on the surface, then

(i) determine the maximum kinetic energy of the

photoelectrons.

(ii) if 20% of the incident photons produce
photoelectrons, how many electrons are

emitted per second if the area of the

Potassium surface is 4cm? (6,6,6)

3. (a) Deduce Heisenberg's uncertainty principle for

position and momentum using gamma ray

microscope thought experiment.
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S

(1) Explain in detail the double slit experiment with

4. (a)

(b)

clectrons. What inferences can be drawn from

the experiment and hence show how it explaing

the dual nature of particles.

Explain what are stationary states. Find the
wavelength of spectral line that corresponds to a
transition from n=5 to n=3 electronic state. In what

part of the spectrum will it lie. (6,6,6)

Starting from the time independent Schrodinger
equation for a free particle in 1D, show that its
solutions are eigen functions of both Energy and

Momentum operators. Also find their eigen values.
Obtain and draw the first two normalized wave

functions and probability density graphs for a

particle in one dimensional infinitely rigid box.

™ T M
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(¢) Calculate the three lowest energy levels in ey for
an clectron inside a 1D infinite potential we]] of

width 2 A°. Also find the corresponding normaliseq

cigen function. (6,6,6)

3. (a) How are X-rays produced in an X-ray tube? Give
the difference between continuous and
characteristic spectrum of X-rays of any atom with
the help ofa proper diagram. Hence, explain the

concept of critical potential.

'b) Explain the concept of nuclear binding energy and
packing fraction. Discuss graphically the variation
of binding energy per nucleon with mass number.
A, and hence explain the concept of nuclear

Stability and nuclear fission and fusion.
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(c) Natural Thorium consists entirely of the Alpha
radioactive isotope Thorium 232 which has a half-
life of 1.4 x 10" years. If a rock sample known
to have solidified 3.5 billion years ago contain 0.1%
of Th-233 today, what was the percentage of this

nuclide it contained when the rock solidified?

(6,6,6)

(a) What is the difference between spontaneous and
stimulated emission in LASER. Which condition is

necessary to achieve stimulated emission?

(b) Name and explain which conservation laws seemed
to be violated in beta decay. How did Pauli resolve

these discrepancies?

(c) Given half-life of Po?!% as 138 days. Calculate

(1) The decay constant of Po
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]

(11) The

(1) How

the S

8

activity of 1 gram of Po

many decays per second occur wh
wnen

ample 1s one week old (6
' ,6,6)
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—

of this question paper.

SECTION - A

Attempt ANY three from the section. Each question

carries ten marks.

I Write short notes on any two of the following :
(2x5=10)
(a) Spam
(b) Influencers
(c) Blogs

P.T.O.
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esstonal soci; g “ .
5 Personal and professiona al media profileg differ

from cach other i content as well as style. List three

\xl\‘li \111.f«‘lt‘l1\‘k‘s,

W rite a short note on the significance of Keywords in

a LinkedIn profile.

Expand any five of the following abbreviations

commonly used on social media :

DM FOMO. G2G, HTH, IKR, IMO, NVM

Y,

2ge of digital communication, hardcopy letters

.-.-_“
1HC
N

‘come obsolete. Do you agree? Discuss with

reasons.

SECTION - B

ANY three from the section. Each question
twenty marks.

\ v . . . . ) . 2 (e,

Poudre organising a Literature Festival in your college
af i . : ‘ » (7T N

Draft the following messages in this regard. (U

formal ang informal language appropriately).
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(a) Write a WhatsApp message to student presenters
who are visiting your college to participate.
Welcome them to vour college. Give them the
details of the venue of the Festival, their reporting

time and the time allocated for each event.

(b) Write a WhatsApp message for your own college
students asking them to attend the Festival to be
the audience. Tell them how their participation is
going to help them. Give them the details of the
Festival.

You are the president of the Book club of your college.
Write an email to a famous writer who is popular
among the youth, inviting him to inaugurate the
Literature Festival that you are organising in your

college.

You have a personal blog where you write about issues
that are of concern to the youth. Write a blog, with
appropriate hashtags, about the addictive nature of

social media and suggest ways of overcoming it.

9. Use of Linkedln has become a popular mode of online
presence. Create a Linkedln profile with the aim to
connect with peers in your area of expertise. Write
under the following headings: Summary/About,

Experience, Education, Skills.

P.T.O.
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[0. There are various kinds of vlogs - travel, cducational,
food. tashion, fitness, etc. If you were to create gz
viog what kind would it be and why? Write a short
script for the vlog of your choice,
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PART A

Answer any three questions: (3710=30)

. You are getting late for your College and you decide
to take a new, but shorter route. Unfortunately, your
mobile gets snatched by two men on a bike. Write a

diary entry of the incident.

Write a blog post on the advantages of social media

platforms.
Write a paragraph on climate change.

Fill in the blanks with correct articles or prepositions :

(1x10=10)

(a) I ike —____ English teacher who narrates

incidents to highlight the text.

that house work

(b) The tenants who live

very hard.



2062 3

)

(¢) It was a ramny day ——___ July.

() —— reason she gave for missing school was

not accepted.
(¢) Your shoes are lying — the floor.
() Her room is — the kitchen.
(g) Why are you —__ so late?
(h) I'm going on a holiday —__ London.

(i) 1 will be going — the market in the

evening.

0) ——

reason for her absence is not known.

Read the passage given below, identify 10 mistakes

and rewrite the passage with corrections. (10)

When you brake (1) it down to its basic, its only
about knock (2) a ball around. Grown up men in fancy

clothes, knocking a ball around. Amusing themselves;

P.T.O.
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providing amusement. Of course, there are good things
on display: outstanding physical abilities, strenth (4),
speed, skill. A good match of cricket is really only
about these things. It doesn’t help cure deseases (5);
it doesn’t add to the fund of human knowledge. But
if you choice (6) to do so — and lovers of sport do it
all the time — you can imbuu (7) it with a hundred
deep meanings. Make a game a metaphor in (8) life —
and its exertions and pirouettes find the meanings of
struggle, morality, loss and triumph. The fact
i1s more vaulting prose is written on the (9) single
hard-fought game than in all the prase (10) of seers

and scientists.

PART B

Answer any three questions : (3%x20=60)

6. Read the passage below and answer the questions

that follow :
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So has young Nisha Sharma of Noida sparked a new
anti-dowry movement? One would like to think this
could happen. After all, the anti-dowry campaign of
the late 1970s was triggered by one woman, Satyarani
Chaddha. who decided to raise the banner against the
custom when her own daughter was tortured and killed
for not bringing a sufficient dowry. So an individual’s
actions can still have far-reaching repercussions. Any
of us who think it is not worth doing something we

believe in because we feel we are alone, should

remember Nisha and Satyarani and many others like

them.

Nisha has been widely feted and felicitated. Her
courage has to be acknowledged but the media
spotlight on an individual or several Nisha-like
individuals, should not mask some of the harder
questions that need to be asked. In Nisha’s case, two

issues stand out. One, parental support when

she decided that the cash demand was too much.

P.T.O.
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Two. that until that line had been crossed bogp
she and her parents went along with Unreasonab|e
demands and even deception in terms of the groom’s |

qualifications.

It 1s this latter issue that one must look at more |
closely. For what are ‘reasonable’ demands? Why
should there be any? Why ‘demands’? can any of
them be really ‘reasonable’? in which other culture
are girls expected to carry to their marital homes all
the equipment for a house - washing ma.chine,' fridge,
TV. furniture, cupboards, soft furnishings - as well as

a car or scooter apart form loads of jewelry and'{é

clothes? How can even this be considered!

‘reasonable’?

(a) Answer the following questions in about 100 words

cach : (3x5=15)

i

(1) Who, according to you, is the ‘heroine’ of

this article, and why?
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(1) Discuss s f
uss the factors in favour of Nisha

which helped her I
ped her call off her wedding?

(1) Do vou think :
_ think there can be a ‘reasonable

demand’ for dowry?

(b) From the passage given above, give the
most appropriate synonyms to the words given

below : (5x1=3)
(i) Tradition
(i) Single

(iii) Aid

(iv) Fraud -

(V) Awaited

| : 1n
Read the comprehension passage given above 1

e than 150 words.
(20)

06 and make notes in not mor

p.T.O.

IR

R ———
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Your cousin is visiting Delhi for the first time. Write
a dialogue discussing the places you plan on taking

her for sightseeing. (20)

Write an application for the post of a Student
Coordinator, NSS, of your College in response to an
advertisement on the College website. Also, attach

vour resume for the same. (20)

Write a letter to the Principal of your college
requesting permission to host a conference on

disability, giving all the required details. (20)
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e e

Passage 1.

-

. eps
. : y ‘ or ke
A nest is a structure in which an animal li€s

. ' e g . oatS for
its young. Birds are well known for building 18
: n . : overl
their eggs. Birds have been building ngsts for l
S of birdsa ’

100 million years. Dinosaurs, the ancestor
also built terrestrial nests over hundreds of millions of
years. The diversity we see in bird's nests today 15 3
result of these thousands of bird species, evolving in %
different environments, creating diverse ways to house *
and protect their families.

. e
We think of architecture as a result of conscious

design, purpose and aesthetic expression; there is,”
precisely, such architecture in avian nests. These are
not unplanned constructions. These are shaped by a
history ‘af selection and functionality. Also, the
diversity ‘of materials used by birds i :
ty d by to build nets ig

astonishing and birds arrive at this 'i'ndependeﬁtly

As adults, the bifds go out into nature alone ang gather

materials to construct their nests Which have
_ Very
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Sp 3
ecif: .
Capal::t::struc.mrcs‘ They have fcxtraordinary building
Which show both flexibility and-innate way

of interact; i
Tacting with the environment.

Interesﬁngl)’, all nests perform a physical job to house
and protect a bird's eggs from bad weather and
predatmfs. The nest is also often the location of the
development of the young. Therefore, knowing the
nest's centrality, birds have developed habitat-based
strat_egie‘s to meet these needs. Birds build nests in
trees, in bushes, in caves, on high rock ledges, or on
buildings. Diverse species use twigs, sticks, feathers,
webs-of mud, handled in specific ways to

plant fuzz,

create the nest they require. Some birds use saliva to

bind the materials ~together. Like human buildeérs, birds

& choose materials related to the actual structure they

%want. y .

s also have regular styles of construction -

Birds' nest
ori cally _conditio
ties which use bricks or stones. -Birds have a

it ned by circumstances, like human
{ L

c,:omﬂmni

P.T.O,
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similar historical jnvcstment in their nests. For instance,
a group of land birds, which includes kingfishers:
hornbills and woodpeckers is about 60 million years
old. All of these nest in holes, froxﬁ ground burrows .
fo holes in trees, where they can safely keep their
eggs. Apart t'_:rom safety, nests also provide shelter
and can be used as camouflage to protect birds from
their predators. N‘o'né of them has created an
alternative to nests. Nests are, therefore, conservative
structures -.birds don't change the design much, unless

they are sure they are improving on the conditions -

required for bréeding and protecfing their young.

Many birds bujld cup-shaped nests. Others make dome
nests or nests ‘that hang from tree limbs like long
bags. The size of the nest depends on the typesof
bird - A hummingbird's nest is no bigger than a B’;i’]')'"s,vs
fist. Now weaver birds are an extraordinary examp]e
of a group of birds that makes impressive nests. Theg,
inciude an egg chamber suspended from a brancy,
with a doorway. The complexity is amazing - the fibreg

are interlaced, like weaves.
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N This Creates very Slroné watcr-rcpéllant structures.
The weaver bird starts with a vertical ring, like a
hoop, ang adds a back hemisphere to this. It then

weaves on the front to create a small door. Some

Species add a tubular passage to the back chamber -

this can be up to five times the length of the nest.

Birds in cold climates might line their nests with

insulating materials, such as grass, tq help keep the

eggs warm. Birds in warmer regions might use rqcks
insteéd because the gaps allow better air flow to keep
the eggs cool. While birds can be creative.architects,
several bird species have no nests and don't even

;c'r;pe .the ground before laying an egg; they find a
spot and lay. Some species, such as the peregrine
falcon, common murre, nightjar, short-eared owls, and
emperor penguin, lay their eggs in the open or a

) cluded spot without having a nested
relatively 8¢

words)
ructure (650 .

st

k]

P.T.O.
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Passage 2.

Nora: And you are proud to think of what you have

done for your brothers.
Mrs Linde: I think L have the right to be.

‘Nora: I think so too. But now, listen to this; I t00

“have something to be proud and glad of.

Mrs Linde: I have no doubt you have. But what do

you refer to?

Nora: Speak quietly. Suppose Torvald were to hear! -
He mustn't on any account - no one in the world must* . .

know, Christine,- except you.
Mrs Linde: But what is it?

Nora: Come here. (Pulls her down on the sofa beside
her.) Now I will show you that I too have something

to‘be"proud and glad of. It was I who saved TOrVald's
life.



Nora: 1 (
ora: I'told you about our trip to Italy. Torvald would

ne
ver have recovered if he had.not gone there

Mrs Linde: Yes, but your father gave you the
necessary funds.

Nora (smiling): Yes, that is what Torvald and all the
others think, but -

Mrs Linde: But -

Nora: Father didn't five us a shilling. I was the one

found the money.
Mrs Linde: You? All that large sum?

Nora: Two hundred and fifty pounds. What do you
think of that? '

Mrs Linde: But, Nora, How could you possibly do it?

Did you win a prize in the lottery?

] N . P.T.O.
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Nora (contemplatively): In the lottery? There would

have been no credit in it.

Mrs Linde: But where did you get it from, then?

Nora (humming-and smiling with an ai_r’of' mystef}’)i

Hm, hm! Aha!

Mrs Linde: Because you couldn't have borrowed it?

v

Nora: Couldn't I? Why not?

Mrs Linde: No, a wife cannot borrow without her

husband's consent. : .

Nora (tossing her head): Oh, if it is a wife who has
any head for business - a wife who has the wit.to be

a liftle bit clever -

Mrs Lindé: I don't understand it at all, Nora,

Nora: There is no ned for you to. I never sajq I

borrowed the money. I may have got it ‘some Other

way. (Lies back on the ‘sofa.) Perhaps I got i from

some admirer, When anyone is attractive ag | am
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Mrs Linde. <
S, Linde: You are a mad creature.

NOTa'. NOW, You know you're full of curiosity,
Christine.

Mrs Linde: Listen to me, Nora dear. Haven't you

been a little bit impudent?

Nora (sits {xp straight): Is it i'm_pruden_t' to save your

husl;and's life?

Mrs Linde: Tt seems to me imprudent, without his

knowledge, to -

Nora: But it wgs absolutely necessary that he should
not know! Mt goodness, can't you understand that? It
was necessary he should have no jdea what a
dangerous condition he was in. It was to the doctors
came and said bis life was in danger, and that ¢ne

only th!n$ to save him was to live in the south. Do

4 dndn't try. first of ll}. to get what I

P.T.0.
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wanted as if it were for mysel[f9 I told him how much

I'should love to travel abroagd like other young wives;
[ tried tears and entreaties with him; I told him that
he ought to remember the bond_ition. I was in, and that
he ought to be kind and indulgent to me; ] -even hinted
that he miight raise a loan. That nearly made him
angry, Christine. He said I was thoughtless, and that.
it was his duty as my husband not to indulge me in my
whims and caprices as I believe he, called them. Very
well, I thought, you must be, saved - and that was

how I came to devise a way out of the difficulty.

Mrs Linde: So it has all had to come out of your owp

necessities of life, poor Nora?

Nora: Of course. Besides, I was the one responsible
for it. Whenever Torvald has given me money for
new dresses and things like that, I have neve; spent

more than half of it; I have always bought the simpleg ¢
and cheapest things.

(650 words)



11 o L o {
Paésage 3. |

First came the scream of the dying

0 a bad dream, then the radio report,

and. a fiewspaper: six shot dead, twenty-five
houses razed, sixteen beheaded with hands tied
behind thejr backs inside a church ...

As the days c‘rumble'd, and the victors

and their victims grew in number,

. 1 hardened inside my thickening hide,

Until I iost my tenuous humapity.

1 ceased thinking

of abandoned childrén jnside blazing huts
0

till waitiné for their parents.
s

P.T.O.



of many winter hearthsg at the hour

of sleeping déath, I didn't want to know,
if they ever learnt: the magicof’letters.
And the women hieavy with seed, °©
their soft bodies mawn déwn

like grain stalk during their lyric harvests:

’

¢

if they wore wildflowers in their hair -

while they waited for their men,
I didn't care anymore. '
I burnt my truth with them,

and buritd. uheasy ‘manhood with them

I did mutter, on some far-offday:
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n o
Ther imi
[C are limits," bug when the days,

absoly |
Ived the butchers, I continue to live
as if nothing happened..

(1 76 Words)

- Questions

Part A

-

All questiods carry 10 marks each.

Attempt any 3 questjons out of 5.

Answers for all Part A

stions are to be written in 150-200 words.
que ’

Q stions 1 and 2 are based on passage 1.
ue

n I p 2-

P.T.O.
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Question 4 and 5 are based on passage 3. |

" . terials
Why do birds build nests and what are the mat

——

-

used for the same?

. . ‘?
2.  What is special about the nests of weaver birds”

3. What does Nora confide to Mrs Lit_1de about? -

4

4. Describe the situation the poet is writing-.about in_

your own words in a short paragraph.

»

5. Why does the poet feel that he hag lost his

humanity?

Part B
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o ¥

15

Alj Questiong “arry 20 marks each.

A'ttemm any 3 ques't'i"ons out of 5.

Answerg for al] payy B

Questiong are; to be written in 300-350 words.
QueS’tiOl.lsl 6 and 7 are based on passégg 1.

’

| ' e 2.
Questions § and 9 are based on passage.
Question 10 is based on passage 3.

1 ' . t essay and give it a
i of the given shor
Write a.precis
title.
any similarities in the building Of. nests to
Are there

omes for humans? Explain,
: ding of home |
the building ¢

ou think Nora wants to keep the fact that
y you .
Why do ¥

d their trip to Italy a secret from her husband,
de ‘
she fun

P.T.O.
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Lorvald?

8

. rs
What does the conversation hetween Nora and M

Linde reveal about the lives of women?

ot

"I continue to live as if nothing happened” says the
narrator in Passage 3. Is this a common response t0

life's tragedies? Discuss with reference to what you

have understood from Passage 3.

Y oaon ¥

(Toog)
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Discuss about main scholars and their contribution in

the field of Ayurveda

OR

a@aﬁaﬁqmmaﬂw%a&ﬁm\

Discuss about the Atreya and Dhanvantari school of

Ayurveda.

2, a@z%mwmﬁa%ﬁmﬁm%m\
(15)

Describe in detail about Shalakya

. and
kaumarbhrityatantra of Ayurveda. |
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Discuss the Panchkarmas of Ayurveda.

FTAT H FER AT FT D W N wwOEg | (15)
Describe the Trayodash Agnis according to Ayurveda.

JRAAr

OR

Wu@%,ﬁm%ﬁﬁénﬁml

What are the Saptadhatus? Discuss.

YA EEd B FTER e, AU AR FGT W I
O H T Y

What are the medicinal benefits of Amla,

Ashvagandha and Arjuna plants according to Sushrut
Samhita ?
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What are the medicinal benefits of Haldi, Neem and
Jamun plants according to Sushrut Samhita ?
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.
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medicinal benefits of Pudina
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medicinal benefits of Brahmj
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Answer any three questions of the following-

(=) w’gﬁan@mqm%ﬁamifsﬁsm-w%%ﬁ
F qUA FX)

Describe the importance of Itihasa-Purana in the

development of Sanskrit narrative tradition.
() H@mmmaﬁ%ﬂmwwﬁmw

Write an €S8ay on Sanskrit fables.

(W)WWWWW%W@
farefas =1,

Explain the impact of Sanskrit narr

atology on
Indian thought.
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Underline the role of the tradition of story-telling
in social-awakening,
(T) m%%&:@ma@amﬁ%maﬁ
a3 S |

Explain the impact of Sanskrit narratives on

different art-forms.

frefafias A @ fopdl o W pouy R (3%5=15)

Write notes on any three of the following

() e - AR
Gatha Narasamsi

() F4rafte AT
Kathasaritsagard

() I
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Cave-painting.
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have to be attempted.

Part A (3x10=30 marks)

Attempt any 3 out of the following 5 questions

Write short notes on :

The significance of the title of Chekhov’s “The
Betrothed”.

The title of Mansfield’s short story “The Voyage™.
Orientalism.
Lulu’s marriage in Sartre’s “Intimacy”,

Barthes’s discussion of French toys.

P.T.O.
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10.

Part B (3x15=45 marks)

Attempt any 3 out of the following § questions

What does Gramsci mean by hegemony? What is the
relation between hegemony and the role of intellectuals
In society?

Discuss the themes of homecoming and nostalgia in
Lu Xun’s short story “My Old Home”. What kind of
relationship with the past does the story seem to
advocate?

Discuss Simone de Beauvoir’s comparison between
the state of women and that of Jewish people, black
people, and the working classes. Do you think these
comparisons are effective in strengthening her
arguments?

Discuss the character of Hieronymus in Thomas
Mann’s “Gladius Dei”. What are his views on the
role of art in society and how do they differ from
those of M. Bluthenzweig?

In his essay, Foucault discusses the concepts of
“work” and “writing” as “notions that are intended to
replace the privileged position of the author [but they]
actually seem to preserve that privilege.” Explain
Foucault’s argument and critically analyze it.
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Unique Paper Code 32235907000

Name of the Paper " GE-7 Human Physiology

Name of the Course : B.Sc. Theory I",x:;lninalilnn May 20
Semester " Semester - 11, CBCS ’ e
Duration - 3 hours

Maximum Marks : 75 Marks

Instructions for candidates:

. Write your Rell No. on the top immediately on receipt of this questior r
- : ‘ : S5 question pape

- Attempt FIVE questions in all -

- Question No. 7 is compulsory

') PD

. Draw diagrams wherever required

+

Q1. (a) Define the following terms (Any five):
I Tropic hormone

2. Latent period

3. Bohr's effect

4. Ghal cells

5. Semilunar valves
6. Deglutition

(b) Distinguish between the following (Any five):
Spermatogenesis and spermiogenesis
I-band and A-band

Tubular reabsorption and tubular secretion
Systemic and pulmonary circulation
Chief cells and Pariete] Cells
Neurotransmitter and Hormone

Ok w1

.

(¢) Expand the following abbreviations:

1. ANP
2. CCK
3. MMC
4. PRL
(d) State the location and function of the following (Any four):
1. Acrosome
2. Tropomyosin
3. Type | Pneumocytes
4. Submucosal plexus s o
5. Thyrotrophs Tt "

Q2. (a) Discuss the various h

tissue. ;

(b) Discuss the role _of } leium homeostasis.

\ Q3. (a)Explain the exci

|

+ (b) What is an actio

with the help of suitable diagram )

10

tary and their effect on the tare
get

8,4

4



(a) Describe

4. : TOCESS f A aass : P '

¢ gastrointestina] tractp cess of digestion and absorption of carbohydrate 1n 91}‘]46
b) DISCuss the role of 1 o o o . .
( ole of liver in food digestion.
a) Discuss the varm. X . .

Q5. (b; Draw a1 'tl\auous mechanisms of oxygen (ransport in blood. 8,4
( a well labelled diagram of Nephron,

Q6. (a) II?lsclu§s the various phases of cardiac cycle. 8,4
(b) Explamn the hormonal regulation of oogenesis.

Q7. write short notes on Any Three of the following: 4x3=12

a) Renin-Angiotensin-Aldosteron
b} darcomere

¢) Regulation of Glomerular filtration rate
d) Conduction system of heart

¢ system
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.

2 Students must attempt four questions.

3. All questions carry equal marks.

4 Answers may be written cither in English or Hingj Bt
the same medium should be used throughoyt the

paper.
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Differences in our society have been result of long
and complex historical processes. Explain with suitable

examples.
A T ¥ A (R’ Qe v SR wewt fereen W
F1 A 2| Juged IeTEEn gied @RS

) cepl of

Discuss the continuity and change in the con

“aste from ancient period to the present.
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wE
. ow
3 Has class and status changed the way h

. . . \ . & ‘ s IeS‘
perceive caste India? Flucidate with examp

s ) sk 2faad A anfa @ fAwa & A @0 &l afeafdd

3 20 3RO @ @y e afoiv

: al
2 TFyen women of upper caste have faced unequ
<ituation in their private spheres? Discuss with suitable

examples.

W S e A W ey Bt 8w F s feafd
= Fw a w27 Jugad SOl B A W

~

Write a note on the Dalit consciousness in India.

e ® 2fad Ia41 W U femun fofau)

6. Discuss the role played by B R Ambedkar for th
improvement in the situation of the (e
Pres
classes. sed

et &0 feufa 9 quR @ faw @ s spargey
q .
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. Ganikas were slave to their own situation. Discussg
e s @ feafa @) e M fadae A

Q rhe constitution of India prohibits any discrimination

on the grounds of religion, race, caste, sex, or place
~f birth. Explain this in relation to social inequalities

in India.

w7E F1 daud ¥, 9%, oifd, o oo 9w =|e &
gur W TEE o e & Wewid W e onidl 81 WRT #

s FEAEAIA & 99y # g ARl Ffeigl

(1000)
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Instructions for Candidates

Write your Roll No. on the top immediately on receipt

1.
of this question paper.

2 Attempt three questions from PART A and three
questions from PART B.

3 Questions in PART A carry 10 marks each, and those

in PART B carry 15 marks each.
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Part A

(IX10=30 marky)

o Discuss the different types of shots with the help of

q dragram.

A Eaplam the different elements of a television news

bulletin.

Discuss the properties of sound. Explain the different
tvpes of microphones.

< Write a short note of any two of the following:

'a) Docudrama

(b) Visual Culture

(¢) Natural Sound, Ambience Sound
(d) Electronic Image Stabilization
(e) Electronic Field Production

() Location recce
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5. Explain the multi-Source Linear Editing setup with
the help of a dragram.
Part B
(3x15=45 marks each)
5. Write a news story on any one of the following:
(a) Collegium System
(b) India after 75
(¢) Akanda Bharat
(d) Viswa Guru Bharat
7 Discuss the different types of camera angles and
movement. Explain the different camera mounting
equipment.
8.

Discuss the different lighting accessories, Explain
the 3-point lighting setup with the help of o

diagram.

PTn
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. No. of Question Paper : 6876

nique Paper Code : 61018411
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Development) (GEC-4.2)
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structions for Candidates

Write vour Roll No. on the top immediately on receipt of this question paper.

Question No. 1 1s compulsory from Section A.

Attempt any Five questions from Section B.

(iv)
v)

(vi)
(vii)

Section A

Explain the categories of cyber-crimes.
me and conventional crime.

Differentiate between cyber-crl
w do you define Domain name

What is a Domain name? G1ve examples. Ho

disputes?
ate Fthics and Etiquettes in Cyber World.

Critically evalu |
ain the liability of social networking sites (Facebook,

Critically examine and exp!

Twitter) according to IT Act.
s various forms of elec

ing publishing obscene information™.

. tronic contract?
Define e-contract. Discus

: i lv
Write a note on «offences invo

Your Roll No.........coe

(93
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(viii)

Write 4
s ' . |
hort note on public and private key encryptions. Define their advantages
and dlsadvantagcs'?

Section B

ll()“’ o~ . y . . s
do we authenticate an clectronic record? Explain the process of its creation

;] 13 N N . 1
nd verification. Explain the powers and procedures of Cyber Appellate

['ribunal. Explain the provisions regarding the appeal made to the Cyber

Appellate Tribunal.
Explain the penalties and compensation available under IT Act to provide legal
protection to the owner of computer resources against cyber-crime.
Write short notes on the following:

a) WIPO

b) Cryptography

¢) Certifying Authority

d) Cyber Forensic
“E-governance is smart governance.” Discuss the provisions of Information
Technology Act, 2000 to facilitate and strengthen e-governance.
“In the age of Information Communication Technology, right to privacy is being
infringed with various means” Explain. What are the provisions which are in
consonance with right to privacy? Discuss the provisions exceptions to right to
rivacy enumerated in Information Technology Act, 2000?

p .
~Cyber Crimes arc considered as borderless crimes.” Explain problems faced so

far as jurisdiction is corcerned.
Explain briefly punishment for publishing and transmitted absence material in
-xpla

Jectronic transactions Critically review the case Avnish Bajaj vs. State. Explain
electronic s .

he Role of G overnment in regulating the Internet Censorship.
the

10

10

10

10

10

10

10

(200)
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Instructions for Candidates

Write your Roll No. on the top immediately on receipt

[—

of this question paper.

> All guestions are divided into sections A and B.

Attempt any 5 out of 7 questions from each section.

Section A has short answer questions and each

oy

carries 5 marks whereas Section B contains long

answer questions and 10 marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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SECTION — A

Discuss the following terms i—
. Aggregation
(1) Macroeconomic policies

faratafa o4l @@ o W -
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2.

4. What are the two components of the user cost of

Explain the concept of the uses-of-saving identity.

ol - 3% - AT RN A sraurmn & awemzv

Discuss the concept of multiplier. (Diagram is

required).

T . FIURT W o w1 (IR s D)

capital?
T3 H SHEREA ANE B R ueE @ q 27
What is the full employment budget surplus?

T TR awe Hfedw @ 27

What are the motives for holding money?

= W@ B g g }7




da /I | o
7. Explain the relationship between bond price and ry,

of 1nterest.

i @ AFE IR W W B A qEY H FHEEY |

Section — B

1 What is macroeconomics? Mention the issues of

macroeconomics that macroeconomists address.

afe sefamer Fan 27 wfte AR B I Y& W I
2. (a) Suppose nominal GDP is $66,000 and real GDP 13

$62,000, find the value of the GDP-detlator.

(b) List the four components of total spelling.

() = & & mma SiEd $66,000 ?}ﬂ?aﬁﬁaﬁﬂaﬁ
$62,000 2, SHEN - Ry & Feq A B

(@) = AP # 9r wew H R 0
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3 Give two equivalent ways of describing equilibrium in
the goods market. Use diagrams to show how goods

market equilibrium is achieved.

o TER A GIET W AU FE D A e A AR
a@ﬁ%mwaﬁﬁmmm%mﬁaﬁ
3 v A w1 I |

4 What is the budget surplus? Explain the effect of

government purchases on the budget surplus.

T AW T 27 a9c AREY W EE0 WE D I
1 e @ |

Following information about an economy are given

as . —

C =50+ 0.8YD

[ = Rs. 70
G = Rs. 200
TR = Rs. 100

t = 0.20

P.T.O.
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(a) Calculate the equilibrium level of income in this

model
(b) Calculate also the budget surplus

(¢) Supposc that t increases to 0.25. What is the new

cquilibrium income?

vE yierge @ AR A g THED 39 YER & S

] = 70 92

G = 200 T
TR = 100 ¥4
t = 0.20

(%) z& #ied 4 3@ & GO W A A AR |

(@) awe Hfasw &) W e w1
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T R

6. Define net export function. An increase in the
marginal propensity to import reduces the equilibrium
income level in an open economy, while an increase
in autonomous export increases the equilibrium level

of income. Explain with the help of a graph.

@%Wﬁqﬁmmlmﬁmgﬁ
ﬁ@w@&@wﬁ@wmwaﬁmm
3 vty wEw Peld § 9 o S e WA S

3| v UE S GEEA d AT |

7. (a) Explain financial market equilibrium with the help

of money supply and moncey demand analysis.

(b) What is the money multiplier? If checkable _,

deposits (c) is zero, and the reserve ratio (0) 1s

0.1. find the value of the money multiplier.

P.T.O.
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Instructions for Candidates

. Write your Roll No. on the top immediately on receipt

of this question paper.

2. Attempt all questions.

3. All questions carry equal marks.

Use of stencil is allowed for drawing outline of maps.

5 Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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Define the science of climate change. Discuss the

impact of climate change with suitable examples.
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Discuss physical and economic

ro

Define vulnerability,

vulnerability to climate change.

mﬁnﬁnﬁaﬁummaﬂsﬂﬁ?"ﬂwﬁ?
aNTgT ® aE W

OR JAYal

Discuss social vulnerability to climate change with

suitable examples in detail.

T RadT @ A g @ IeE ded faEgT
=07 Ffed |

Describe the impact of climate change on agriculture

and water.

gﬁwsﬁvmwm@qﬁaﬁ%mmmaﬁma

OR H¥al

[lustrate the impact of climate change on human
health 1n detail.

FAary offadd @ WAG wred WU Ayl i fargd
Ied@ Fiford |
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4.

N

Discuss the global initiatives of adaptation to climate

change with suitable examples from South Asia

W%éﬁammwﬁﬁl

OR 3l

Describe the role of local institutions in addressing

climate change.

mgqﬁaﬁ%wmﬁwﬁuéwﬁaﬁﬁﬁwwaﬁ#
cadl

Write short notes on ANY TWO of the following:
(a) Intergovernmental Panel on climate change (IPCC)

(b) Impact of climate change on flora and fauna
(c) National Action Plan on climate change
frfafan % @ foredl @ W G eI SIS
(%) arg qRads W e - Eed et (rERAA)
FRIES
(@) ety gRed= &1 e ﬁ;@a—ﬂﬁ“

() g aRedT W T wE A
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper-

2. Attempt any five questions in all.

3. All questions carry equal marks.
Answers may be written either in English or Hindi; but the same medium should be used

throughout the paper
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1.

| g

4.

3.

4

at way | i : ! ! | |
In.Wh y.have the prehistoric and protohistoric archaeological sites 111 Delhi assisteq i,
comprehending the city's history?

ﬁﬁﬁmﬁﬁﬁmmmmﬁ%m%mﬁmﬁ*m
R GEEA H R?

How have ancient monuments been subject to reinterpretation across different periods of

time? Describe using the Mehrauli Iron pillar as examples.

WA D e W W gerRw W g wiw AR B B R wEEd F T S
e & v @ ¥

How did the transformation of ruling dynasties and groups in medieval Delhi during the 13th
and 14th centuries influence the changing patterns and layouts of the court, capital, and
urban centers? '

38 3R 145 TR @ N wEghE Ren X wEw aeEw IR A B RS ¥ TA-TE@X,
TAUR @zs@%ﬁ%mqﬁﬁqsﬁtm (ReSe) = B wefa fear?

Ghalib metaphorically described Delhi as a Mughal candle, which flickers back to its former

glory before being permanently extinguished. Do you agree?

W%ﬁ_&ﬁﬁ@wm%mﬁaﬁhﬁm,ﬂmmﬁgﬂ%%wﬁaﬁ

Provid depiction of the cultural milieu of Delhi during the 19th century.
ide a

& %Mﬁ—@h%mqﬁ&wmwml
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6.

~l

10.

'

\ How have the events of the Indian Rebellion of 1857 been remembered and
over time?

Provide a detailed analysis of the ideological clashes that arose during the osta
impetial Delhi?

HfL
mﬁﬁﬁﬁm%m@hﬁmmmﬁ@aﬁsﬁw@

Depict the ordeals faced by the populace of Delhi during the partition. .

fem & T Rl o v @ we o o s @ Rfe w0

Discuss the idea of the waterfront garden as it evolves under different Mughal rulers.

At e el & sl de-w R @ smuwor @ Rew @ o= @R,

Write short notes on any twé of the following:

(a) Mandoli

(b) Pillars of Ashoka

(c) Kilokri

(d) Bahadur Shah Zafar

frffaa & A el @ w Wi Rufnt fRw -

(%) wER
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Instructions for Candidates

2D

)

\Write your Roll No. on the top immediately on receipt

of this question paper. y

Attempt all questions as per directed question wise.

)

SECTION -1
i | -
Writc a ShOl[ note on the lite and contributions ol any

three of the following mathematicians :

l

(a) Bhargava
P.T.O.
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' IR ~:(h) Von Neumann
(c) Noether
| (d) Abel -
~(¢) Riemann .
A- {0 Lagrange. (15)
SECTION - 11"~
j2." -Ahcmbt any six questions. Each question carries five
iﬁa_rks: | | |
Y (a) What is Konigsberg Bridge pro'blem? How graph
of the Konigsberg bridge problem can be modify
to solve this problem?
(hy Write short note of any two of the [olfowing
. . o m

(i) Mobius Strip
(i) Four Color Map 'l‘hcorém

(1) Golden Ratio

it i e,



graph ol 'y-:«/x'; where x and y are 'rénl‘

() Make
Explain why it is'not a function,

numbers.

What is projection? Draw projection in XY plane’

( point and a line in space.

What is Fibonacci scquence? Show that ratia of
the one Fihonacci number to the one preceding 1t

draws progressively nearer to golden ratio.

, lind Cos 0, an' and Sec 0.

=

A 12
(Y Given SinQ =—-—
. 37’

- What is regular polyhedron? me Face Dm' ona

[ S

I

and Space Dlagonal in a. cubmd
() Define reflection symmctxy What arc¢

reflection and rotational qymmctne\ of &

and isosceles triangle?

SECTION 111

YO ANy e Gy
J rl\'Q sl

ML e 1'1')03
: ‘ll‘l(“‘ ) t‘ ) .

questions, Fach question ©

. .l":T"'.o: .
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(a)

(D)

4 i e i}

Solve the following system of lnu.n ccllaix'l,i(j,q'szl:,sg,'ii‘;", "

Gaussian' climination method
2x = 2y + 3z = 2
XN t 2y —-z=3

3N =yt 2z = |

Solve the*following system of lincar ¢quations using .- .

Gauss Jordan method

x + 3y + 2y =2

2x + Ty + Tz = -

«
~——

DX+ Sy + 27 = 7

Fmd the mnk oflhc lollowmz, matrix hy u:ducmrr "

Tl lu mw echclon form

1 -1 3
2 0 4
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5

(d) Find the inverse of the coefficient matrix and

(¢) Compute A" for the given maltrix

us¢ it to -solve the following system of lincar

equations

-2X = 3y + 7z = 10

.

‘
12 03
A=|1 3 2
2 47

(f) Find the trivial or non-trivial ssolution of the

. xR
following system of lincar cquations

5x = 22 = 0
~15x -—_11())/ -9z -0

1UX + l?y + 7z = 0
kY

A

w PO



4972 | 6
(g) Expréss the vector x = [5, 17,
combination of the vectors
a,=[3,1,-2),2,=4,0, 1], a

possible.

.20]-us.a lincar:

= [-2..4, 23], i
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Instructions for Candidates

Write your Roll No. on the top immediately on receipt

[e——y

of this question paper.

This paper consists of 8 questions.

o

Answer any 5 questions

(2

4. All questions carry equal marks

5 Answers may be written either in English or in Hindi,

but the same medium should be used throughout the
paper
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The monetary policy framework in India has evolved
over the past few decades in response to financial

developments and changing macroeconomic conditions.

Discuss in detail.

T ¥ ARE A o od wo T ¥ R e ik
Teod wuE e RufEl & sgEr Rswfm gan #1 faEr
F T F

Provide a detailed overview and evaluation of the
land reform policy adopted in India at the time of

[
independence.

m%mmﬁmﬁﬁﬁﬁmﬁﬁmw

ATAFA H HeaiaA gard |

Examine the evolution of Indian agriculture and allied
sectors in the six decades after independence: Whal
have been the main forces that have coﬂ“'ibuted to

this evolution and transformation?
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mﬁmﬁm%mmﬁw@uff&aﬁ;maﬁﬁ
frepra 3 g ) W faww 3k o # drer 29 et
g@aﬁ%wrﬁ%?

"The thrust of the New Economic Policy, 1991 has

been towards creating a more competitive environment
in the economy as a means to improving the
productivity and efficiency of the system". Evaluate

and discuss.

‘g e i, 1991ﬁw,mﬁaﬁmaﬁvam
¥ gur & feorm, st ¥ aften TRresl araraRer S A
AR @ 21 AT W SR T w

5. There is a need to reimagine the role of domestic

cial institutions to provide long-term credit for

finan
ure and exports.

capital intensive industries, infrastruct
Discuss.

8 e RN, sruReE gl & 8 (FwrgEH qHRT)
WW%WWWWW%%WWW
maﬁ'aﬁ%ﬁ?ﬂaﬁaﬁ&naﬂ%aﬁmm%n

T w

6. "The policy paradigm of focusing on domestic

demand and increasing the trade
covid era, is a rec;pe for mediocre g
the Indian economy.’ ' Do you agree with this view?

Discuss.

restrictions in post
rowth of

P.T.O.



3187 4

Cfae @ ag @ g A we AW OAF R EE S
R ufAae) @) g@e @ Afara afeaer A s G

@ staa gfa A aar ya gq fadw @ @wad A7

Provide an overview of trends in growth, employment,

rade and capital flows in India's service sector in

recent _\'CLH'S.
o @ adl W WRd @ Aar aF A fadE, A, A i
ESIREICEED sl @ e ged &

Write shorts notes on any two of the following:
i ¥ A feedl @1 W afae feot fofeEw:
(a) Privatisation policy of government of India

G AER @l e i
(b) India's international engagements 1n services In
the context of multilateral and preferential trade
negotiations
wmﬁhmﬁﬁwaﬁsﬁa}aﬁﬁﬁmaﬁﬁ

(¢) Agrarian distress in India in recent ycdrs
v & gl | WRd A $la qEe

(d) Paradigm of macroeconomic stabulity

g i feagar @1 gfdwE

(7.5 < 2)

(2000)
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